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Foreword

The focus of the series Visible Thinking in Mathematics is consistent
with the ‘Thinking Schools, Learning Nation’ philosophy adopted by the
Ministry of Education, Singapore. The role of mathematics in developing and
improving the child’s ability to think cannot be over-emphasised. I am glad
parents and teachers have a valuable resource to complement programmes in
schools to help the child consolidate his learning.

Mathematics is an excellent p|c.1tlr'0rm for the child to think; and also to think
about his thinking. One of the ways to acquire these competencies is to model
the process and, subsequently, to coach the child to engage in the process.
Providing such an environment is critical in the development of good thinking

in the child.

At Marshall Cavendish Institute, we focus on teacher professional development,
and Visible Thinking in Mathematics provides teachers with good starting
points to provide learning experiences that put thinking at the forefront. We
believe that constant engagement with learning materials with cutting-edge
pedagogies contributes to one’s professional learning.

Yeap Ban Har, Ph.D.
Principal
Marshall Cavendish Institute



Preface

The Visible Thinking in Mathematics series promotes critical and
creative thinking in mathematics. It is designed to help make thinking
visible by providing the child with opportunities to think, explore
and reflect.

While practice leads to better performance, practice without contextual and
conceptual understanding prevents the child from thinking critically and
creatively. In this series, instead of learning procedures and formulas by rote,
the child masters concepts through:

Thinking routines: functional questions to direct the child’s thinking on key
concepts and cultivate the child’s thinking skills.

Parallel questions: consecutive mathematical problems with the same
context but different key words to highlight differences between problems;
ensuring that the child understands and retains concepts and skills better.

This approach not only instills in the child mathematical skills but also
inspires discipline in thinking and greater motivation for learning.

Additional support is provided to the child through Notes. Notes present
opportunities for parents and teachers to clarify misconceptions, simplify
difficult concepts and address areas of difficulty for the child.

At the end of each chapter, there is a Summative Test for the child to recap and
practise what he has learnt throughout the chapter. The ‘Think Out Of The Box’
section, following the Summative Test, includes questions that stretch the child's
thinking beyond the routine.
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Chapter

Counting The Amount Of

Money In A Given Set Thinking Platform

Look at these notes and coins and their values.

Think! Have you ever wondered why there are no $3, $4 or $7 notes?

Why are there coins for 5¢, 10¢, 20¢, 50¢ and $1 but not for
6¢ or 9¢?

- Teaching Tips

- Point out that the notes and coins have their current values because the numbers 1, 2, 5, 10, 20 and 50 easily add

@ up fo form greater amounts. For example, we can obtain $13 with a $10 note, a $2 note and a $1 coin.

© 2014 Marshall Cavendish International (Singapore) Private Limited Visible Thinking in Mathematics 2B (2nd Edition|
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You can combine different notes and coins to show the same
amount of money.

Look at these sets of money.

Both Set A and Set B show eight dollars and fifty cents.
We write this amount as $8.50.

Think! What other combinations of notes and coins can you make to
show $8.50?

Common Errors

This is the first time the child encounters the decimal notation. We should not approach this section in the same
way we teach decimals. Instead, it should be highlighted to the child that the dot is used to separate the dollars
and the cents. The correct way of writing money in decimal notation should also be emphasised to the child. For
example, two dollars and forty cents should not be written as $2.4, but $2.40.

aMt'l'l"'t‘-rs |
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Attaining Mastery

1. Write the amount in numbers.

e ™
(a) Fifty-five dollars and five cents
LSS /
e R
(b) Five dollars and five cents
o J
' B
(c) Sixteen dollars and ninety-six cents
N J
= i
(d) Ninety-six dollars and sixty cents
N J/
o Y
(e) Forty-two dollars and twenty-four cents
L S
( k!
() Twenty-four dollars and four cents L
: ;
(g) Nineteen dollars and thirty-five cents
X )
(’ N
(h) Thirty-nine dollars and fifty cents
\_ J
4 =
(i) Twenty-six dollars and forty cents
A _/
i I
(j) Forty-six dollars and twenty cents
\. Y,
© 2014 marshall Cavendish International (Singapore) Private Limited Visible Thinking in Mathematics 28 (2nd Edition] 3



2. Count. Write the amount in words and in numbers.

~ Example :

(a)

(b)

4 Visible Thinking in Mathematics 2B (2nd Edition) © 2014 Marshall Cavendish International (Singapore) Private Limited



(c) e

rem %Mf ; }.LD

(d)

(e)
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3. Write the number of each type of notes and coins needed to make

the given amount.

i) (510) (35 (82) (1) (g0e) |20%) (10¢)

$14.00 7 2
2 1 2
| | |
(a) $19.00
(b) $23.00
(c) $1.90
(d $2.30

© 2014 Marshall Cavendish International (Singapore) Private Limited
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T e

Changing Cents And Dollars Thinking Platform

We can change dollars to cents.

$1 can be written as $1.00.
$1=51.00 = 100¢

$0.25 = 25¢
$4.20 = 420¢

Think! How do we change dollars to cents?
| What happens to the dot?

We can also change cents to dollars.

1¢ = $0.01
250¢ = $2.50
42¢ = $0.42

Think! How do we change cents to dollars?
What do we add to the digits?

i  Areq of Difficulty
_f Explain to the child that when we change dollars to cents, we remove the dot. However, when we change cents
o todollars, we add a dot. Lead the child fo see that the dot is placed before the second digit from the right. Thus,
"L 1o change 250¢ o dollars, we put the dot before 5, remove the ¢ and add the $ sign before 2. We add 0 before

the dot for amounts lass than $1. For example, we write 40¢ as $0.40. We add 0 before and after the dot for
amounts less than 10¢. For example, we write 5¢ as $0.05.

8 Visible Thinking in Mathematics 2B {2nd Edition) © 20714 Marshall Cavendish International (Singapore) Private Limited



Attaining Mastery

1.

2,

© 2014 Marshall Cavendish International (Singapore) Private Limited

Write the amount in dollars.

(@) 30¢ R R

(c) 3¢

(e) 250¢

Write the amount in cents.
() $8

(c) $9

Write the amount in cents.
(a) $8.20
(c) $9.80
(e) $7.90

(g) $7.26

(b)

(d)

(f

(b)

(d)

(b)

(d)

(f)

(h)

28¢ —

103¢

345¢

$12 DL NN

$5 bl S

$0.65

$4.05

$5.30

$2.40

Visible Thinking in Mathematics 28 {2nd Edition)
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Comparing Amounts Of Money _ Thinking Platform

Look at these problems.

Problem 1

Jane has $34.50. Mary has $45.30.
Who has more money?

( Amount Dollars Cents |
Jane H  $34.50 34 50
Mary $45.30 45 30

N 2,
Problem 2

Jane has $34.50. Mary has $45.30.
Fiona has $53.40. Diana has $54.30.

Who has the greatest amount of money?

" Amount Dollars Cents |
Jane $34.50 34 50
Mary —  $45.30 45 30
Fiona —  $53.40 53 40
Diana— $54.30 54 30

L J

Think! How do we compare amounts of money?
' Do we compare the dollars or the cents?

Teaching Tips

Point out to the child that when comparing amounts of money, he should begin by comparing the dollars. Also
emphasise that dollars must be compared with dollars and cents with cents.

10

Visible Thinking in Mathematics 28 (2nd Edition)
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Attaining Mastery

Complete the table.
Then answer the questions.

1;

(a) Debbie has $25.80.

Ashley has $28.50.
Who has more money?
" Amount Dollars Cents
Debbie —  $25.80
 Ashley —  $28.50
(b) Debbie has $25.80. Ashley has $28.50.
Nicole has $85.20. Gladys has $82.50.
Who has the greatest amount of money?
( Amount | Dollars Cents
Debbie [—
Ashley
Nicole —
Gladys [
L

Arrange the amounts of money in order.

Begin with the smallest amount.

smallest

@ 2014 Marshall Cavendish International (Singapore) Private Limited
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2. (a) John bought a book for $43.20.
Bobby bought a book for $24.30.
Whose book is more expensive?

 Amount Dollars Cents

John

Bobby |-

(b) John bought a book for $43.20.
Bobby bought a book for $24.30.
Daniel bought a book for $34.20.
James bought a book for $32.40.
Whose book is the most expensive?

" Amount Dollars Cents |
John [
Bobby —
Daniel |-

A J

Arrange the amounts of money in order.
Begin with the greatest amount.

greatest

12 visble Thinking in Mathematics 2B (2nd Edition © 2014 Marshall Cavendish International (Singapore) Private Limited



Word Problems Involving
Money Thinking Platform

Look at these word problems.

Problem 1

Benjamin buys a book and a file for $24. The book costs $4
more than the file. How much does the file cost?

Problem 2

Benjamin buys a book and a file for $24. The book costs $4
less than the file. How much does the book cost?

Problem 3

Benjamin buys a book and 3 files for $24. The book costs $4
more than a file. How much does the file cost?

Think! How are the problems similar?
" How are they different?

Can you use the same model o solve these problems?

What operation should you
use to solve each problem?

Teaching Tips
These word problems are similar to those that the child has learnt in addition, subtraction, multiplication and

division of whole numbers. Ask the child which words help him decide which operation should be used
to solve the problem.

Notes

© 2014 Marshall Cavendish International (Singapore) Private Limited Visible Thinking in Mathematics 2B (2nd Edition| 13



Draw models and solve.

~ Example

A toy car costs $34.
A doll house costs $16 more than the foy car.
How much do the toy car and the doll house cost altogether?

Toy car 34 i 1?
Doll house BT ” J :
$34 + $34 + $16 = $84

The toy car and the doli house cost $84 altogether.
o7

1. (a) Atoy carand a doll house cost $34.

The toy car costs $16 more than the doll house.
How much does the toy car cost?

(b) A toy car and a doll house cost $34.

The toy car costs $16 less than the doll house.
How much does the doll house cost?

14 Visible Thinking in Mathematics 28 (2nd Edition) © 2014 Marshall Cavendish International (Singapore) Private Limited



2. (a) James has twice as much money as Brian.
Luke has $20 more than James.
If Brian has $65, how much money does Luke have?

(b) James has twice as much money as Brian.
Luke has $20 less than James.
If Brian has $25, how much money does Luke have?

(c) James has twice as much money as Brian.
Luke has $20 more than Brian.
If Luke has $80, how much money does James have?

© 2014 Marshall Cavendish International (Singapore) Private Limited Visible Thinking in Mathematics 28 (2nd Edition 15



3. (a) Jenny has $82. She spends $24 on books.
Then her mother gives her $18.
How much does Jenny have in the end?

(b) Jenny has some money. She spends $24 on books.
Then her mother gives her $18.
If she has $82 in the end, how much did Jenny have at first?

() Jenny has some money. She spends $18 on a book and twice

as much on a school bag.
If she has $42 in the end, how much did Jenny have at first?

16  \visible Thinking in Mathematics 28 (2nd Edition) © 2014 Marshall Cavendish Interational (Singapore) Private Limited



4.

(a) Derrick pays $45 for a glove and a bat.
The glove costs $29 more than the bat.
How much does the bat cost?

(b) Derrick pays $30 for 2 gloves and a bat.
A glove costs as much as a bat.
How much does the glove cost?

(c) Derrick pays $45 for 2 gloves and a bat.
A glove costs twice as much as the bat.
How much does the bat cost?

© 2014 Marshall Cavendish International (Singapare) Private Limited Visible Thinking in Mathematics 2B (2nd Edition) 17



5. (a) Jerry buys abook and a file for $12.
The book costs twice as much as the file.
How much does the book cost?

(b) Jerry buys a book and a file.
The book costs twice as much as the file.
The book also costs $12 more than the file.
How much do the book and the file cost altogether?

(c) Jerry buys a book and a file.
The book costs 3 times as much as the file,
The book also costs $12 more than the file.
How much do the book and the file cost altogether?

18  visible Thinking in Mathematics 28 (2nd Edition) & 2014 Marshall Cavendish International (Singapaore) Private Limited



6. (a) 3 apples cost $2. Susan buys 24 apples.
How much does she pay?

(b) 3 apples cost $4. Susan pays a total of $24.
How many apples does she get?

(c) 24 apples cost $8. Susan buys 15 apples.
How much does she pay?

2 2014 Marshall Cavendish International (Singapore) Private Limited Visible Thinking in Mathematics 2B (2nd Edifion) 19



Summative Test

Muitiple-Choice Questions
Write the number of the correct answer in the brackets.

1. Forty dollars and four cents when written in figures is

0 $1404 2) $14.40
(3] $40.04 4] $40.40 ()

2. Jenny had some money. She spent $24 on a book. Then, her
mother gave her another $18. In the end, she had $82. How much
did Jenny have af first?

(1 %40 (2) $76

(3) $88 (4) $124 ( )
3. The difference between six $5 and eight $2 notes is

(1) $3 (2) $14

(3) $30 (4) $46 ()

4. Tim had $72. He distributed it equally to Peter and Jeremy. In
the end, Peter had $85. How much money did Peter have at the

beginning?
(1) $24 (2) $37
(3) $49 (4) $109 ()

5. I have 7 fifty-cent coins and 2 twenty-cent coins. They add up fo

0 070 2) $2.40
3) $3.50 4) $3.90 ()

20 visible Thinking in Mathematics 28 (2nd Edition) © 2014 Mmarshall Cavendish International (Singapore) Private Limited
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6. Jenny had some money. She spent $18 on a book and twice as
much on a school bag. In the end, she was left with $42. How
much money did Jenny have at first?

7. Four girls saved some money from their allowance. Jane saved
$25.80. Mary saved $28.50. Fiona saved $85.20. Diana saved
$82.50. Arrange the girls according to the amount of their savings.
Begin with the greatest amount.

greatest | ~ smallest

8. John bought a book and 3 files for $24. If the book cost $4 more
than a file, find the cost of a file.

© 2014 Marshall Cavendish International (Singapore) Private Limited Visible Thinking in Mathernatics 2B (2nd Edition] 2]



9. How much money is there altogether?

10. Mrs Lim bought some beef and chicken for $42. The cost of the
chicken is $16 more than the beef. How much did she pay for the
chicken?

22 sl Thinking in Mathematics 28 (2nd Edition) © 2014 Marshall Cavendish International (Singapore) Private Limited



" Think Out Of The Box!

1. Jerry bought a bag, a shirt and a racket for $148. The racket cost
$22 more than the bag and the shirt cost $12 less than the bag.

How much did he spend on the racket?

2. Study the picture below.

= $33

).

I
o
w
o

3. For every 3 chickens Tom sells, he earns $5. How many chickens
must he sell in order to earn $45?

Link
For more reading and practice, you may also refer to chapter 12 of My Pals Are Here Maths 2B (3rd Edition).

Notes

© 2014 Marshall Cavendish International (Singapore) Private Limited Visible Thinking in Mathematics 2B (2nd Edition) 23



Length

Measuring And Comparing -
Lengths Thinking Platform

The arrow below shows how long 1 centimetre is.
ilill'llll'lllI|IIIl|IlﬂlllllllIIIIIIII|IIII|IIII|IIII|IIII|
0 1 2 3 ) 5 6 7 8 9 10 11 12

cm

Estimate the length of your hand, arm and foot in centimetres.
Then, use a measuring tape to find the actual length in centimetres.
How close was your estimate?

Body part My estimate Actual length

\\é??

A

N

Think! Can you estimate how long 1 metre is?
Teaching Tips

)
_?_ Many children do not have an idea of how long a centimetre or a metre is. Before the child starts doing computations
_zo involving cenfimetres and metres, this activity should give him a sense of these units of measurement.

24  visive Thinking in Mathematics 2B (2nd Edition) © 2014 Marshall Cavendish International (Singapore) Private Limited



Look at the pencils below. Which is longer? How much longer?

‘(\ Pencil A
| w, Y wd Y wdlo)
] )! Pencil B

I
|
i||||||u||||||||||||un[|m|||n|uu|||u||||||u|||nu|
0 1 2 3 10 1N
cm

(@ PencilAis_______cmlong.

(b) PencilBis______ cmlong.

(c) Pencil is cm longer than Pencil

Think! Is it difficult to tell which pencil is longer? Why?

Now look at the pencils below. Which is longer? How much longer?

@ i@ Pencil C

IIIIII|IIIIIII'IIII[II|IIIliIIIIIIIIIiIIIIIIlII|IIII|IIII|IIII|
o 1 2 3 4 5 6 10 1

Pencil D

(d) PencilCis______cmong.
(e) PencilDis______cmlong.
(f) Pencil is cm longer than Pencil

Think! Is it easier to tell which pencil is longer? Why?

Teaching Tips
Remind the child that in measuring length, the starting position of an object against a ruler is just as important as
its ending position.

Notes

© 2014 Marshall Cavendish International (Singapore) Private Limited Visible Thinking in Mathematics 28 (2nd Edition) 25



L

Look at the picture below and fill in the blanks.

e

IIIIIIIII'IIIIIIIII'IIII|IIII|IITIIIIIIIIIllIlIlIlIlllIIIlll
4 5 6 7 8 9 10 11 12

0 i 2 3
cm

(@) The pencil is cm long.

(b) Eachclipis cm long.

(c) The pencil is cm longer than a clip.

(d) The pencil is times as long as a clip.

Look at the picture below and fill in the blanks.

:I _

|IlIIIIIIllllllIIl|||lllllllllllllllllllllllI|IIIIIIIIIl[IIlI
0 1 2 3 4 5 6 7 8 9 10 11 12
cm

(@) The pencil is cm long.

(b) The eraseris cm long.

(c) The pencilis cm longer than the eraser.

(d) The total length of
total length of 2 pencils.

erasers is the same as the

26 Visible Thinking in Mathematics 2B (2nd Edition) © 2014 Marshall Cavendish International (Singapore) Private Limited



3.

Look at the picture below and fill in the blanks.

€2
@ >

IllllllllllllllllllI|IIlI|IIII|lIII|IIII|IIII|IIII|IIII|[III|
0 1 2 3 4 5 6 7 8 9 10 11 12

cm

(@) Theclipis
(b) Thepinis
(c) Thepinis

cm long.

cm long.

cm longer than the clip.

(d) The total length of 4 pins is the same as the total length of

clips.

(e) The total length of 3 pins and 4 clips is cm.

Look at the picture below and fill in the blanks.

&

IIIIIlIIIIiIIIIIIIIIlIIII|IIII|IIII|IIII|IIII|IIII|IIIIIIIIII
0 1 7 8 9 1 1112

2 3 4 5 6 0
(a) The pinis cm long.
(b) The pencil is cm long.

(c) The total length of 2 pins and 3 pencils is the same as the total

length of pins.

(d) The total length of 3 pencils is the same as the total length of

pins.

© 2014 Marshall Cavendish International (Singapore) Private Limited Visible Thinking in Mathematics 28 {2nd Edition|
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5.

Look at the picture below and fill in the blanks.

(a)
(b)
(c)
(d)

(e)

o

]HIIlIIIIIIIII|IIIIIII!IIIIIIIIIIIIIIHIIIIIlIIIIlIIIIlIlII
0 1 2 3 4 5 6 7 8 9 10 11 12

cm

The clip is cm long.
The pin is cm long.
The pin is cm longer than the clip.

The total length of 3 pins is the same as the fotal length

of clips.

The total length of 2 pins and 2 clips is cm.

Look at the picture below and fill in the blanks.

(a)
(b)
(c)

(d)

LLLL LU LLLLY LLLLY LRI LR LR LR LT L L
0 1 2 3 4 5 6 7 8 9 10 11 12
cm

The pin is cm long.

The pencil is cm long.

The total length of 3 pencils is the same as the

total length of

pins.

The total length of 3 pins and 3 pencils is the same as

the total length of

28  Visible Thinking in Mathematics 28 (2nd Edition)
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7. Look at the picture below and fill in the blanks.

(a)
(b)
(c)
(d)

(e)

cm

1301
120 1
90
60+
30 -

is the tallest,

and have the same height.

Benis cm taller than Leon.

The total height of all the boys is cm.

Leon has to stand on 20-cm stools so that he is

as tall as Eric.

© 2014 Marshall Cavendish International (Singapore) Private Limited Visible Thinking in Mathernatics 28 (Znd Edition) 29



8. Look at the picture below and fill in the blanks.

cm

180 -
150- & etk
120 G,
90 1
60 -
301

|
Mary Jane Celine  Diana

is the shortest.

(b) Dianais cm shorter than Jane.

(c) Celineis cm taller than Mary.

(d) The total height of all the girls is cm.

(e) Celine has to stand on
tall as Jane.

20-cm stools so that she is as

30 visible Thinking in Mathematics 2B (2nd Edition) @ 2014 Marshall Cavendish International (Singapore) Private Limited



9. Look at the heights of the buildings below.

| G P L (R e S L D0t W, R, O

L 1T T T T T T IYY%N
ot
3

HEHHEHHABRY

Building A Building B
125m 83 m

1]
— ﬁ
Tl | g
(T | o
I
1 x
I a g
T a o
oo | O o 4
a ] o
4 By | = |5
o | g . i
TT o o g
o | 2 u g
o 0
o ]
Building C  Building D
140 m 5m

(@) What is the total height of Building B and Building D?

(b) What is the total height of Building A and Building D?

(c) How much shorter is Building D than Building C?

(d) How much taller is Building A than Building B?

© 2014 Marshall Cavendish International (Singapore) Private Limited
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10.

32

Look at the heights of the towers below.

=
i
m 5
'_:131 :
7T '
fanmi
jusi 1 I |
To_wer A Tower B Tower C Tower D
N3 m 159 m 135m 195m

(@) What is the total height of Tower B and Tower C?

(b) What is the total height of Tower A and Tower C?

() How much shorter is Tower A than Tower D?

(d) How much taller is Tower B than Tower C?

Visible Thinking in Mathematics 28 (2nd Edition) © 2014 Marshall Cavendish International (Singapore) Private Limited



Problem Solving Involving -
Length Thinking Platform

Look at these problems.

Problem 1

John has a ribbon that is 82 cm long. Janice has another ribbon that is
25 cm longer. What is the total length of their ribbons?

Problem 2

John has a ribbon that is 82 cm long. Janice has another ribbon that is
25 c¢m shorter. What is the total length of their ribbons?

Problem 3

John has a ribbon that is 82 cm long. Janice has another ribbon that is
25 cm long. What is the total length of their ribbons?

Think! How are these problems similar?
" How are they different?

s Teaching Tips

s These parallel questions help pupils see and understand the different concepts of addition and subtraction

- o involved. With the non-essential terms kept constant, guide the child to highlight the key terms and solve the
= problems.

© 2014 Marshall Cavendish International (Singapore) Private Limited Visible Thinking in Mathematics 2B (2nd Edition) 33



Attaining Mastery

1. Hisham walked 240 m from his home to the park.

He then jogged another 385 m to the mall from the park.
(@) What is the total distance that Hisham travelled?
(b) How much further did he jog than walk?

2. Malar had a ribbon measuring 14 cm long.

Jaswant had another ribbon that is 8 cm longer.
(@) How long was Jaswant's ribbon?
(b) What was the total length of the two ribbons?

=

=)

34 visible Thinking in Mathematics 28 [2nd Edition) @ 2014 Marshall Cavendish International (Singapore) Private Limited



3. Glenn needed 240 cm of string to tie some parcels.
He only had 182 ¢m of string.
(a) How much more string did he need?
(b) Glenn later bought another 180 cm of string.
What was the total length of string he had in the end?

4. FEtienneis 163 cm tall. Weilong is 45 ¢m taller than him.
(a) How tall is Weilong?

(b) What is their total height?

© 2014 marshall Cavendish International (Singapore) Private Limited Visible Thinking In Mathematics 28 (2nd Edition) 35



5. Mr Tan needed to saw 8 pieces of wood, each measuring 4 m.
What is the total length of wood Mr Tan needed?

6. Cempaka uses 3 m of tape to seal a carton.
What is the length of tape she needs to seal 7 similar cartons?

7. Yuwen cuts out 45 m of cloth to make some curtains.
Each curtain uses 5 m of cloth.
How many curtains can she make?

8. Rani had a roll of paper measuring 27 m long to make paper
lanterns. She made 9 similar lanterns altogether. How much paper
did she use for each lantern?
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Notes

More Addition And Subtraction
Of Length Thinking Platform

Look at the problem below.

The distance between Dan’s home and his school is 200 m.

After walking a distance from his home to school, he stopped and
walked back another 110 m to look for his missing wallet.

He was 40 m from home.

How far had he walked before he stopped and walked back?
Which of the solutions below is correct?

Solution A

40 + 110 =150
Dan had walked 150 m.

Solution B

200-110 =90
Dan had walked 90 m.

Solution C

200 -150 =50
Dan had walked 50 m.

Think! How can you use a diagram to help you visualise and solve
this problem?

Teaching Tips

The child may find it difficult to visualise distances from different starting points, especially when different
directions are involved. In such word problems, drawing a diagram or other visual aids will make it easier
to understand.
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Attaining Mastery

Solve these problems.

~ Example

The distance between Mahesh’s home and the mall is 320 m.
After walking 120 m from his home to the mall, he stopped and
walked back another 45 m to a cafe. What is the distance from
the cafe to the mall?

320m

120m
Cafe -m Ji

?m

The distance from the cafe to the mall is 245 m

1. The distance between Mahesh’s home and the mall is 320 m.
After walking 200 m from his home to the mall, he stopped and
walked back to a cafe. If the cafe is 160 m away from the malll,
what was the distance he walked back?

320 m

200 m

P
il |

Cafe om

166 m
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2. The distance between Kara's home and the park is 400 m.
After walking a distance from her home to the park, she stopped
and walked 80 m back to a library. If the library is 160 m away
from the park, how far had she walked before she stopped and

walked back?

400 m

Home ; P(]rk
™m :
. ..:-l
80m

Library «—

160 m

3. The distance between Kara’s home and the park is 420 m.
After walking 240 m from her home to the park, she stopped and
walked back to a library. If the library is 245 m away from the park,
how far did she walk back?

420 m
HOME @ — P ([ k
. 240 m . :
Library Jﬂ'
245 m
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4. Jasper was competing in a 400-m race with Derrick.
When Jasper was 120 m away from the finish line, Derrick was
200 m away from the starting line. How far apart were they?

400 m
Start ﬁ End
Jasper o s
Derrick ® e in . 120m

5. Jasper was competing in a 400-m race with Derrick.
When Jasper was 120 m away from the finish line, Derrick was
310 m away from the starting line. How far apart were they?
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6. Wani was running in a 300-m race with Gavin.
When Wani was 245 m away from the finish line, Gavin was
150 m away from the starting line. How far apart were they?

7. Wani was running in a 300-m race with Gavin.
When Wani was 245 m away from the finish line, Gavin was
150 m away from the finish line. How far apart were they?
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8. Wilson was running in a race with Ronald.

When Wilson was 120 m away from the finish line, Ronald was
150 m away from the starting line.

(a) If Wilson was 40 m ahead of Ronald, how long was the race?
(b) If Wilson was 40 m behind Ronald, how long was the race?

42  vsible Thinking in Mathematics 28 {2nd Edition) 2 2014 Marshall Cavendish International (Singapore) Private Limited



Measuring Gaps and Intervals  Thinking Platform

Compare the problems and diagrams below.

Problem 1

Lamp posts are placed at an equal distance from one another.
The distance between the 1¥ and the 2™ lamp post is 4 m.
What is the distance between the 1" and the 4™ lamp post?

Lt
b 4m 1 4m : 4m

|
'| st 2 nd 3

Problem 2

Lamp posts are placed at an equal distance from one another.
The distance between the 1 and the 5™ lamp post is 16 m.
What is the distance between the 1¥ and the 10" lamp post?

4m 4m“4m=E4m

I

'|st 2nd 3d 41h Sth

Think! How many lamp posts are there in the pictures?

How many 4-m gaps can you see?
What do you notice about the number of lamp posts and the
number of gaps?
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Notes .

Let us solve these problems.

Problem 1

Lamp posts are placed at an equal distance from one another.
The distance between the 1¥ and the 2™ lamp post is 4 m.
What is the distance between the 1% and the 4™ lamp post?

1 T 3 o

Distance between 1¥ and 4" lamp post =3 x4 =12m

Problem 2

Lamp posts are placed at an equal distance from one another.
The distance between the 1 and the 5™ lamp post is 16 m.
What is the distance between the 1 and the 10" lamp post?

%T% 7
4m_ﬁ;4m 4m 4m

1

2ﬂd 3rd 4ih Sih

—
LU | et

Distance for1gap =16 +4=4m
Distance between 1% and 10" lamp post=9 x 4 =36 m

Teaching Tips

Have the child count the gaps and lamp posts. Lead him to conclude that the difference between the two
numbers is 1. Then ask the child how he would find the number of gaps between the 5% and the 20" lamp post.
Explain that he simply needs to subtract 5 from 20 to find the number of gaps between them.
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Attaihing Mastery

1. Some trees are equally spaced out along a road.
The distance between the 1 and the 2" free is 3 m.

What is the distance between the 1¢' and the 9™ tree?

2. Some trees are equally spaced out along a road.
The distance between the 15 and the 5" tree is 20 m.
What is the distance between the 1¢' and the 9™ tree?

20m
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3. Some trees are equally spaced out along a driveway.
The distance between the 1* and the 2" tree is 4 m.
What is the distance between the 1° and the 10" free?

4. Some trees are equally spaced out along a driveway.
The distance between the 1¢ and the 5" tree is 12 m.
What is the distance between the 1 and the 8" tree?

46 vsible Thinking in Mathematics 28 (2nd Edition) 2 2014 Marshall Cavendish International (Singapore) Private Limited



5. Lamp posts are placed at an equal distance from one another
along an expressway. The distance between the 1+ and the
2" |amp post is 3 m. What is the distance between the 1¥ and

the 10™ lamp post?

6. Lamp posts are placed at an equal distance from one another
along an expressway. The distance between the 5" and the
10" lamp post is 25 m. What is the distance between the T
and the 10™ lamp post?
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7. 10 pupils are standing in a row at an equal distance from one
another. The distance between the 1* and the 5™ pupil is 40 m. How
far apart are the 1¥ and last pupils?

8. 10 pupils are standing in a row at an equal distance from one
another. The distance between the 4" and the 8" pupil is 40 m.
How far apart are the 1% and last pupils?
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Summative Test
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Write the number of the correct answer in the brackets.

1. Mary has a piece of raffia string 48 cm long. She cuts it info 6 equal
pieces. What is the length of 2 pieces?
(1 6cm 2) 8cm
(3) 12cm (4) 16 cm ()

2. Acaris 6 mlong. Abusis 5 m longer than the car. What is the total
length of 4 cars and 5 buses?
(1) 1Tm (2) 49m
(3) 50m (4) 79 m ()

3. A piece of wood is cut into 7 pieces of equal length. If the total
length of two pieces is 30 cm, what is the original length of the

wood?
(1) 30cm (2) 60cm
(3) 105cm (4) 210 cm ()

4. A matchstick has a length of 5 cm. What is the length of a twig if it
measures 19 matchsticks long?
(11 5cm (2) 19 cm
(3) 95cm (4) 145cm ( )

5. A wooden plank is 129 cm long. 42 cm of wood is cut from it and
the remainder is cut into 3 equal pieces. How long is each of the
3 equal pieces?
(1) 27 cm (2) 29 cm
(3) 87 cm (4) 171cm ()
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Fill in the blanks.

6. The distance around an oval track is 109 m. Leonard ran around
the track thrice. What is the total distance he covered? (Express your
answer in metres.)

7. Aropeis 350 mlong. It is cut info 3 pieces. The longest piece is
125 m long. The shortest piece is 18 m long. The remaining piece is

cut into 3 smaller pieces. What is the length of each of the 3 smaller
pieces?

8. Desmond has a wooden stick that is 410 cm long. He saws it into
4-cm pieces. What is the maximum number of pieces of 4-cm
wood he can get?
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9. Bryan is 140 cm tall. His brother, Gabriel, is 45 cm shorter than him.
What is their total height?

10. Shaun is 162 cm tall. Wesley is 20 cm shorter than Shaun. Nathaniel
is 18 cm faller than Wesley. What is the total height of the 3 boys?
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- Think Out Of The Box!

1. Oliver had a wooden stick that was 300 cm long. He made 4 cuts.
If he were to make 5 cuts, how much shorter would each stick be?

2. The length of 2 poles and 4 rods is 78 cm. The length of 4 similar
poles and 2 rods is 84 cm. What is the length of a pole?

3. 4 matchsticks are used to form a square. Each matchstick is 6 cm
long. What is the total length of the matchsticks needed to form
5 squares as shown?

___________________
____________________________

____________________________

V¥ Link

_e‘ For more reading and practice, you may also refer to chapter 9 of My Pals Are Here Maths 2A (3rd Edition).
=

4
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Mass

Thinking Platform

Measuring Mass

Look at the eggs on the weighing machines below.

kAQ BO

\ | | | [

) = %
0
y
100 300 00
00 200

CQD
~ |

l
300
2

Think? Which egg is heavier, A or B?
| What do you notice about the scales on the weighing

machines?
Why is it important to look at the scale or markings

on the face of the weighing machine?

Teaching Tips

Point out to the child that the fwo weighing machines are different. Get him to observe the difference in the scale
o and the number of markings shown. Explain to the child that he should find the value of each marking to obtain

the correct reading.
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Let us look at the scale on each weighing machine.

|

0
7
300 100

200

54  visivle Thinking in Mathematics 28 (2nd Edition

Between each 100 g interval,
there are 4 smaller markings and
5 gaps.

100+5=20

Each gap represents 20 g.

Between each 100 g interval,
there are 3 smaller markings and
4 gaps.

100 +4 =25

Each gap represents 25 g.
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Attaining Mastery

Write the mass of the items below.

,??

|/ |/

0
9
15?//}) 50
100 100
=/

& J T
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5. = 5 6. @
T2y
b
WY
0 0
9 g
300/) 100 300 100
200 200

e
7. 8.
QcEE 11;:\y %

| | |

|/
0 0
g g
150 0”50 150 50
100 100
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Comparing Mass Thinking Platform

Look at the balance below.

Think!? Which box is heavier, Box A or Box B?

Box A

Box B

Look at the balances below.

Box A

Box B /

\ Box C
\

Think! Which box is the heaviest, Box A, Box B or Box C?
: Why?

Teaching Tips

The balance is similar to a see-saw, where the heavier object will be lower than the lighter object.

As no unit of measurement is involved here, the comparison of the masses of objects is relative. This means
we can only conclude which object is heavier, and not find the exact difference in mass between them.

Explain to the child that when the balance is level, the objects on each side of the balance have the same mass.

MO""QIS
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1.

58  visible Thinking in Mathematics 28 (2nd Edifion

Look at the balances and answer the questions below.

Box A

Fill in the blanks with more than or less than.

(@) The mass of Box A is

(b) The mass of Box B is

Fill in the blanks with the correct letters.

(c) Box B is lighter than Box

(d) Box B is heavier than Box
(e) Box
() Box

is the lightest.

is the heaviest.

1kg.
1kg.
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2. Circle the correct answers.

(@) ( BagA | BagB )is heavier.
(b) BagAis( heavier | lighter )than 2kg.

(c] BagBis( heavier | lighter )than 2 kg.

3. Fillin the blanks.

(@) Carton A is heavier than Carton

(b) Carton A is lighter than Carton

(c) Carton is the heaviest.
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4. Circle the correct answers.

Box B

Box C

(@) BoxCis( heavier | lighter )than BoxB.
(b) BoxBis( heavier | lighter )than BoxA.
() BoxAis( heavier | lighter )thanBoxC.
(d) ( BoxA | BoxB | BoxC )isthe lightest.

(e) ( BoxA | BoxB | BoxC )isthe heaviest.
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Fill in the blanks.

£\ T
O} |
The mass of the sharpeneris 29 g.
= 4+
= +h 59/59/59159|59
5g|5g|5g|5g]|59
- +) 5g59|5g|59|59
L2\
[ O |
5. The mass of the 3 batteriesis __g.
15g
15g|15g
15g|15g|15g
/2
(@A |
6. The mass of the bag of seeds is g.
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7. Fillin the blanks.

g.

(b) The mass of the large bottle is g.
_p L 10q|10
\ l 10g| 10g
\_n_,/ A\

| O

(c) The mass of a small bag is

3 o

Co

(d) The mass of the large bag is
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Solve these problems.

8. Cindy's mass is 20 kg. She is twice as heavy as her sister.
What is her sister's mass?

9. Cindy is twice as heavy as her sister. If their total mass is 27 kg,
what is Cindy’s mass?

10. Cindy is twice as heavy as her sister. If Cindy’s mass is 12 kg more
than her sister’'s mass, find Cindy’s mass.
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1. The mass of a papaya is 500 g. The mass of a watermelon is 300 g
more than the mass of the papaya. What is the total mass of the
papaya and watermelon?

12. The mass of a papaya is 500 g. The mass of a watermelon is
3 times the mass of the papaya. What is the total mass of the
papaya and watermelon?

13. The mass of a box of watermelons is 2 kg more than the mass of
a box of papayas. If their total mass is 14 kg, what is the mass of
the box of watermelons?
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14. The mass of a toy car is 50 g more than the mass of a doll.
Tf the mass of the doll is 220 g, what is their total mass?

15. The mass of a toy car is 150 g and the mass of a doll is 3 times
as much. What is their total mass?

16. The mass of a toy car is 20 g more than the mass of a doll.
The mass of the toy car is 3 times the mass of the doll.
What is their total mass?
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Solve.
17. There are 4 boxes labelled A, B, C and D.

Box D is not the heaviest.
Box A is not the lightest.
Box A is lighter than Box B.
Box D is heavier than Box A.

Which box is the heaviest?

Which box is the lightest?

18. Matthew, Darren, Owen and Pat are standing in a row.

Owen is not the heaviest.
Darren is not the lightest.
Darren is lighter than Pat.
Owen is heavier than Darren.

Arrange the boys’ names in order.
Begin with the lightest boy.

lightest
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Summative Test
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Write the number of the correct answer in the brackets.

1.

A dictionary, a textbook and a pen weigh 560 g, 820 g and 25 g
respectively. What is their total mass?

(1) 8659 (2) 1405¢

(3) 1670g (4) 3880¢g ()

Nathaniel, Wesley and Shawn weigh 100 kg altogether. Nathaniel
weighs 28 kg while Wesley is 12 kg heavier than him. What is
Shawn'’s mass?

(1 30kg (2) 40 kg

(3) 32kg (4) 44 kg ()

The total mass of John and his bicycle is 60 kg. If John weighs

42 kg, how much heavier is John compared to the bicycle?

(1 14 kg (2) 18kg

(3) 24 kg (4) 42kg ()

A box of sweets weighs 920 g and a box of chocolates weighs
640 g. If the sweets weigh twice as much as the chocolates, what
is the weight of the empty box?

(1) 280g (2) 3609

(3) 5609 (4) 1560 g ()

The mass of 3 pens and 2 rulers is 240 g altogether. If a pen
weighs twice as much as a ruler, what is the mass of 5 pens?

(1 609 (2) 120¢g

(3) 300g (4) 36049 ()

@ 2014 Marshall Cavendish International (Singapore) Private Limited Visible Thinking in Mathematics 28 (2nd Edition) 67



Fill in the blanks.

6. Dis heavier than C. A is heavier than B. B is lighter than C. A'is
lighter than D. Ciis lighter than A. Arrange the letters starting with
the lightest.

lightest heaviest

7. The mass of a magazine is 3 kg lighter than a textbook. Given that
the total mass of a magazine and a textbook is 7 kg, what is the
total mass of 3 such magazines and 2 textbooks?

8. A wooden cube weighs 320 g. A plastic cube weighs 180 g lighter
than the wooden cube. What is the weight of 2 wooden cubes and
2 plastic cubes?
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9. Tom weighs 3 kg more than Clement. Clement weighs 5 kg more
than Joel. Given that Tom and Joel weigh 28 kg altogether, what is
the weight of Clement?

10. Container A can hold twice as much sand as Container B. If
Container A can hold 420 g of sand, how much sand can the 2
containers hold?
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' Think Out Of The Box!

1. Victor weighs 38 kg. His father weighs thrice as heavy as him. How
much lighter is Victor than his father?

2. A pear weighs 120 g more than an orange. A mango weighs twice
as heavy as the pear. The mango is 270 g heavier than the orange.
How heavy is the mango?

3. A wooden box containing 5 pencils weighs 470 g. The same
wooden box containing 5 pens weighs 820 g. Given that a pen
weighs 110 g, what is the weight of a pencil?

Link
_§ For more reading and practice, you may also refer to chapter 11 of My Pals Are Here Maths 2B (3rd Edition).
°©

N
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Chapter

Volume

Thinking Platform

Comparing Volume

Look at the containers below.

N

Think! Which container has more water, A or B?

2\

'I_'hink.' Which container has more water, C or D?

~ r

SIS I SR Y
E

'I'_hink.' Which container has more water, E or F?

Visible Thinking in Mathematics 2B (2nd Edition)

Nt )

B

/A

-~ '

S\ iy

F
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Which has
more?

OLY .




Think! Which containers were easier to compare — A and B, C and D
N or E and F? Why?

These containers
have the same
shape and size.

These containers
have the same
shape and size.

o e i

) Teaching Tips

_j)_ Lead the child to infer that it is easier to compare amounts of water when the containers have the same shape
o and size — the container with the higher water level contains more water.

T
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Attaining Mastery

1. Arrange the containers in order.

- g
e ke eia =
's .;.-.w&ﬁ)i]y)i&; N

Begin with the container that has the least amount of water.

o T e SRR caice

e
1
]
e
e GRS
EEAE G D
A B C
least

(@) Begin with the container that has the greatest amount of water.

55

’ ’

greatest

& 2014 marshall Cavendish International (Singapore) Private Limited Visible Thinking in Mathematics 28 (2nd Edition) 73




(b) Begin with the container that has the least amount of water.

X Y

least

(c) Begin with the glass that has the greatest amount of water.

e

greatest
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Notes

Measuring In Litres Thinking Platform_

Which container below has more water, A or B?

o =

A B

Think! Is there a more accurate way to tell which container has
more water?

Liquids can be measured in litres.

The symbol for litre is €.

Teaching Tips

Point out fo the child that using units of measurements such as litre is an accurate way of measuring the volume

of liquids. Bring the child to a supermarket and point out labels of volume in litres on some of the items you
will find.
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Look at the containers below.
Can you tell which container has more water?

The markings on the containers above help us tell the volume of water
more accurately.

In Container C, each marking represents 1 litre.

The water level is at the 8" marking.
So, there are 8 litres of water in this container.

In Container D, each marking also represents 1 litre.
The water level is at the 6™ marking.
So, there are 6 litres of water in this container.

Container C has more water than Container D.
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Attaining Mastery

® ® L [ ] [ ]
J
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3. Write the volume.

o

Volume =

(e) "IIIII’

Volume =
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Volume = ¢
(d)
Volume = ¢
O
&5
Volume = ¢
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4. Write the volume.

(a) - (b) -

Volume = £ Volume = ¢
Ty e
St EIT
G S
Volume = { Volume = ¢

o (o "

& @B

Volume = ¢ Volume =
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Finding The Volume Thinking Platform

Michael fills up a jug with 2 litres of water.
All of the water in the jug fills up 4 large mugs.

‘W Teaching Tips
_f_ Remind the child to always keep in mind the relationship between the volumes of the different containers to
o

. solve these problems.
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Attaining Mastery

1. Find the volume of water the wooden tub can hold.

2. Find the volume of water a wooden tub can hold.

-0
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3. Look at the figures below and answer the questions.

—
=) 2¢

(@) How many boftles of water are needed to fill up the jug?
(b) How many jugs of water are needed to fill up the tub?
(c) How many bottles of water are needed to fill up the tub?
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4.

Look at the figures below and answer the questions.

= 6(

(@) How many bottles of water are needed o fill up 2 jugs?
(b) How many jugs of water are needed to fill up the tub?
(c) How many bottles of water are needed to fill up the tub?
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5. Look at the figures below and answer the questions.

D=

20 ¢

(@) How many bottles of water are needed to fill up 2 jugs?
(b) How many bottles of water are needed to fill up the tub?
(c) How many jugs of water are needed to fill up the tub?
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Word Problems Involving

The Four Operations . Thinking Platform

Look at the amounts of water the two containers below can hold.

Pail
4¢

Henry wants to fill up the tub with water using the pail.
Think! How many pails of water does he need to fill up the tub?

Henry fills up the pail with water.
He pours all of the water into the tub.
Think! How much more water does he need to fill up the tub?

Henry fills up the pail and the tub with water.
Think! What is the total amount of water Henry has?

What operation do
we use?

Teaching Tips
Guide the child fo identify the operation to be used fo solve the problem by pointing out the key phrases in
the problem.

Notes
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Attaining Mastery

Solve. Show your work.

— Example

A tub can hold 32 € of water.

It can hold 8 times as much water as a pail.
How much water can the pail hold?

32+8=4

The pail can hold 4 ¢ of water.

1. (a) Atubcan hold 32 € of water more than a pail.

It can also hold 5 times as much water as the pail.
How much water can the tub hold?

(b) A pail and a tub can hold 48 € of water altogether.
The tub can hold 28 € more than a pail.

How much water can the pail hold?
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2. (a) Tank A contains 16 € of water.
Tank B contains 24 ¢ of water more than Tank A.
How much water do the tanks contain altogether?

(b) Tank A contains 24 € of water.
Tank B contains 16 € of water more than Tank A.
How much water do the tanks contain altogether?

(c) Tank B contains 16 € of water more than Tank A.
Both tanks contain 24 € of water altogether.
How much water does Tank A contain?

(d) Tank B contains 3 times as much water as Tank A.
Both tanks contain 24 ¢ of water altogether.
How much water does Tank B contain?
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3.

()

(b)

(c)

Tank A contains 12 ¢ of water less than Tank B.
Tank B contains 15 ¢ of water more than Tank C.
Tank C contains 18 € of water.

How much water do the 3 tanks contain altogether?

Tank A contains 12 € of water more than Tank B.
Tank B contains 15 € of water less than Tank C.
Tank C contains 18 € of water.

How much water do the 3 tanks contain altogether?

Tank A contains 3 times as much water as Tank B.
Tank C contains 12 € of water more than Tank A.
The 3 tanks contain 47 € of water altogether.

How much water does Tank A contain?
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Summative Test

Muitiple-Choice Questions
Write the number of the correct answer in the brackets.

1. The difference in the amount of water between the 2 beakers is

(1 3¢ (2) 5¢
(3) 8¢ (4) 13¢ ()

2. A jug contains 2 € of water and a pail contains twice as much
water. How much water is there in 3 pails and 5 jugs?
(1) 8¢ (2) 16 ¢
(3) 22¢ (4) 26 ¢ ()

3. A bowl contains 1 ¢ of water. A flask contains 3 € of water more
than the bowl. A basin contains twice as much water as a flask.
What is the total amount of water a bowl, a flask and a basin can

contain?
(1) 8¢ (2) 10¢
(3) 13¢ (4) 16 ¢ ( )

4. The picture on the right shows some water in @
container. After 2 € of water is poured out of the -

container, how much water is left in the \ = |
container? ﬂ

m 2¢ (2) 6¢

(3) 8¢ 4) 4¢ ( )
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A pail contains 6 € of water more than a basin. The fotal amount of
water in the pail and the basin is 20 €. How much water is there in

the pail?

(1 6¢ (2) 7¢

(3) 13¢ (4) 14¢ ()

Shade to show the right volume for each container.

3

~5¢
el
—34
S~
—3
-~
~2
=

S

2¢ 35

Fill in the blanks.

7. Calculate the difference in the amount of water between the 2

90  visible Thinking in Mathematics 28 (2nd Edition)
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8. The diagrams below show the volume of water that some
containers can hold. Calculate the volume of water a wooden tub
can hold.

9. How much water should be poured from Beaker B to Beaker A so
that they will have the same volume?

L&

Beaker A Beaker B

10. A pail contains twice as much water as a basin. After 15 € of water
is poured out of the pail, the amount of water in the pail is 3 € more
than the amount of water in the basin. How much water is there in
the pail af first?
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' Think Out Of The Box! |

Jug

The total amount of water that 4 bowls can hold is the same as

jugs. The total amount of water that 5 jugs can hold

is the same as bottles.
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2. 4flasks, A, B, C and D, have the same shape and size. Dennis
places some balls of the same size into the flasks with different
amounts of water as shown.

AV VAYA

Arrange the flasks according to the amount of water they have.
Start from the flask with the greatest amount of water to the flask
with the least amount of water.

greatest | | least

3. Container A has twice the amount of water as Container B.
Container B has twice the amount of water as Container C. Given
that the total amount of water in the 3 containers is 28 €, how much
water is there in Container A?

Link
For more reading and practice, you may also refer to chapter 17 of My Pals Are Here Maths 28 (3rd Edition).

Notes
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The Minute Hand Thinking Platform

Look at the clock.

The short hand tells the hour.
Tt is also called the hour hand.

The long hand tells the minute.
It is also called the minute hand.

The minute hand moves from one marking fo the next every minute.
It makes one complete round in 60 minutes.

'[hink.' Look at the numbers outside the clock.

How are the numbers outside the clock related to the numbers
1to 12 on the clock?
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Notes

Each number on the clock represents the time in minutes.

1 stands for 5 minutes.

2 stands for 10 minutes.
3 stands for 15 minutes.
4 stands for 20 minutes.

Think? Can you see a paftern?

The numbers follow the multiplication table of 5.

In5=5
ex 510
g% 5=15
4)(5:20

Look at the clocks below.

Think! Can you tell where the minute hand is pointing?

Teaching Tips

In Primary 2, the child is expected fo read and write time to 5 minutes. At this point, it is important for the
child to understand what the numbers 1to 12 stand for when the minute hand points at them. Committing the
multiplication table of 5 to memory will help the child tell time more easily.
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Attaining Mastery

Fill in the blanks.

1. When the minute hand points at 6,
6 stands for minutes.

2.  When the minute hand points af 11,

11 stands for minutes.

3. When the minute hand points atf 7,

7 stands for minutes.

4. When the minute hand points at 9,

9 stands for minutes.

5. When the minute hand points at 10,

10 stands for minutes.

6. When the minute hand points at 12,

12 stands for minutes.

When the minute hand shows 35 minutes,
it points at the number on the clock.

When the minute hand shows 45 minutes,

it points at the number on the clock.

When the minute hand shows 50 minutes,

it points at the number on the clock.

10. When the minute hand shows 55 minutes,
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it points at the number on the clock.
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Notes

Reading And Writing Time To

5 Minutes Thinking Platform

Look at these clocks.

Think! If you need to be in bed at 9 o’clock, which clock shows the
correct time you should be brushing your teeth?

Write the time shown on each clock in numbers and in words.

Clock A

Clock B

Teaching Tips

Emphasise fo the child that when writing time in words, we write it as we say it. When writing time in numbers,

we use a dot to separate the hour from the minutes.
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The time is 3.40.

Think! Which clock shows the time correctly? Why?

Think! What do you notice about the position of the hour and minute
" hands at each time shown?

Teaching Tips

Lead the child to see that Clock A does not show 3.40 correctly as the hour hand is not in between 3 and 4. Guide
the child to see the position of the hour and minute hands at each time shown from 3.00 to 4.00. Point out fo the
child that the hour hand only moves from 3 to 4 in one hour, whereas the minute hand makes one complefe furn.

NO‘I"_QS l:-
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Attaining Mastery

Write the time.
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2. Tick the clock that shows the time correctly.

= ﬁxﬂm?ag =Y
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3. Draw the minute hand to show the time.
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4. Draw the hour hand to show the time.
(b)
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5. Draw the hour hand and the minute hand to show the time.
(b)
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Use Of a.m. And p.m. Thinking Platform

There are 24 hours in one day.
How can we tell the time in a 24-hour day with a 12-hour clock face?

We use a.m. and p.m.

a.m. is short form for p.m. is short form for
ante meridiem. We use post meridiem. We use
a.m. fo talk about time p.m. fo talk about time
just after midnight to just just after noon to just
before noon. before midnight.

Two o'clock in the afternoon can be written as 2 p.m. or 2.00 p.m.
Five o’clock in the morning can be written as 5 a.m. or 5.00 a.m.
Think! What is the fime interval between 3 p.m. and 3 a.m.?

If an hour before noon is 11.00 a.m. and an hour after noon is
1.00 p.m., would you write noon as 12 a.m. or 12 p.m.?

If an hour before midnight is 11.00 p.m. and an hour after

midnight is 1.00 a.m., would you write midnight as 12 a.m.
or12 p.m.?

V) Teaching Tips

_e Point ouf fo the child that we never say 12 a.m. or 12 p.m. Instead we only say 12 o'clock or noon or midnight.
o

=
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Attaining Mastery

Write the time. Use a.m. and p.m.

(a)
(b)

— Example

5 hours after midnight is ___5.00 a.m.

5 hours before midnight is ___7.00 p.m.

1. ()

(b)

(b)

3. (a)

(b)

4. (a)

(b)

5. (a)

(b)

6. (0

(b)
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9 o'clock in the morning is

9 o’clock in the afternoon is

8 o'clock in the morning is

8 o'clock in the evening is

4 hours before noon is

4 hours after noon is

6 hours before midnight is

6 hours after midnight is

2 hours after 1.00 p.m. is

2 hours before 1.00 p.m. is

3 hours after 1.00 a.m. is

3 hours before 1.00 a.m. is
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Notes
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Time Taken In Hours And
Minutes Thinking Platform

Jeremy finished his remedial lesson at 3.20 p.m.
It lasted for 3 h and 20 min.

What time did Jeremy’s remedial lesson start?

1 h before 3.20 p.m. is 2.20 p.m.

2 h before 3.20 p.m. is 1.20 p.m.
3 h before 3.20 p.m. is 12.20 p.m.

20 min before 12.20 p.m. is 12 o’clock or noon.
So, Jeremy’s remedial lesson started at noon.

Think! What is the difference between these two numbers?

3.20 3 h 20 min

Teaching Tips
In this section, the child learns time duration expressed in hours and minutes. Point out fo the child that *h* stands

for hour and ‘min’ stands for minutes. Guide the child to see that 3.20 states a specific time while 3 h and 20 min
states duration.
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Write the time.

1. (a) Paulreaches home at 2.30 p.m.
Then he takes half an hour to have his lunch.
What time does he finish his lunch?

(b) Paul reaches home at 2.30 p.m.
He leaves his school half an hour before that.
What time does he |leave his school?

2. (a) A clock shows 4.15 p.m. and is 30 minutes slow.
What is the actual time?

(b) A clock shows 4.15 p.m. and is 30 minutes fast.
What is the actual time?
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3. (a) Victor starts jogging at 5.50 p.m.
He jogs for half an hour.
What time does he finish jogging?

(b) Victor finishes jogging at 5.50 p.m.
He jogs for half an hour.
What time does he start jogging?

4. (a) Mary starts watching a show at 11.10 a.m.
The show lasts for one hour.
What time does the show end?

(b) Mary finishes watching a show at 11.10 a.m.
The show lasts for one hour.
What time does the show start?
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Summative Test

Multipie-Choice Questions
Write the number of the correct answer in the brackets.

1. When the minute hand moves half of a circle, it is equivalent to
(1) 10 minutes (2) 20 minutes
(3) 30 minutes (4) 60 minutes ( )

2. When the minute hand moves a quarter of a circle, it is
equivalent to

(1) 5 minutes (2) 10 minutes

(3) 15 minutes (4) 20 minutes ()
3. Aquarter past 9 in the morning is written as

(1) 8.45a.m. (2) 8.45p.m.

(3) 9.15a.m. (4) 9.15p.m. ( )

4. Danny went for a half an hour run. He started at 9.50 p.m. What
time did he end his run?

(1) 9.20 p.m. (2) 9.55p.m.

(3) 10.20 a.m. (4) 10.20 p.m. ()
5. 10 minutes to midnight is written as .

(1 1.50a.m. (2) 11.50 p.m.

(3) 12.10 a.m. (4) 12.10 p.m. ()
Fill in the blanks.
6. 5 minutes to 7 in the morning is written as a.m./p.m.
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7. John reached home at 2.30 p.m. He took half an hour to take his
lunch. What time did he finish his lunch?

8. A clock which is showing 2.15 p.m. is half an hour late. What is the
actual time?

9. Draw the minute and hour hands on each clock face to show the
correct time.

() 2.40 (b) 3.05

10.
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- Think Out Of The Box!

1. Celine went to watch a movie that was starting at 9.40 p.m. By the
time she arrived, she was 10 minutes late. The time on her watch is
20 minutes late. If the movie lasted for 2 hours, what would be the
time shown on her watch at the time the movie ended?

2. The clocks below show the time that John started on his English and
Maths homework before he took his dinner. Did he spend a longer
time doing his English or Maths homework? How much longer?

English

Dinner

3. What is the time difference shown between the 2 clocks?

¥ Link

_g- For more reading and practice, you may also refer to chapter 15 of My Pals Are Here Maths 28 (3rd Edition).
)

st

112  Visible Thinking in Mathematics 28 (2nd Edition) © 2014 Marshall Cavendish Intemational (Singapore) Private Limited



Graphs

Chapter

Reading And Making Picture
GI’OphS With Scales Thinking Platform

The picture shows all the fruits Daniel ate in a week.

Answer these questions.

How many fruits of each type did Daniel eat?
Did he eat more oranges or pears?

Which fruits did he eat the same number of?

Think! Isit easy to answer the questions above?
Why?

Teaching Tips

Before teaching your child to read and create picture graphs, you must first explain the advantages of presenting
information in graphs. Point out that the above picture shows a disorganised set of information making it difficult
to gather information from it.

Notes
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Look at the table below.
It also shows all the fruits Daniel ate in the same week.

Fruits Daniel ate in a week

2222 22 2

&

Banana Apple Mango | Orange
Each Q stands for 1 fruit.

Strawberry

Think! Go back fo the questions on the previous page.

Is it easier fo answer the questions using the table above?
Why?

This is an example of a picture graph.
In this graph, each € represents 1 fruit.

Think! From the graph, how do you identify the fruit Daniel ate
the most?

How do you identify the fruit he ate the least?
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The same number of fruits can also be shown this way.

Fruits Daniel ate in a week

Strawberry

Pear

Banana

Apple

Mango

Orange

Each ’ stands for 1 fruit.

In this picture graph, each ’ also represents 1 fruit.

Think! From the graph, how do you identify the fruit Daniel ate
| the most?
How do you identify the fruit he ate the least?
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The table below shows the number of fruits Kelly ate in a month.

Fruit

Strawberry

Pear

Banana

Apple

Mango

Orange

Number

10

4

6

8

6

6

We can also show the number of each type of fruit using the graphs
below. Can you complete the graphs by drawing < for Orange?

Graph A
Fruits Kelly ate in a month

@&

@

@ - O D
@ & D &
O &R D D -
@ & B D &
O D O D D
@ D @D &> D

Strawberry|  Pear Banana Apple Mango Orange
Each T stands for 1 fruit.
Graph B
Fruits Kelly ate in a month

@D

)

) )
@D & D &P D
@ =D @D

Strawberry|  Pear Banana Apple Mango | Orange
Each < stands for 2 fruits.

Think! How are the graphs similar? How are they different?
' Why are scales used?

Teaching Tips

f No-|-lbs"

116 Visible Thinking in Mathematics 28 (2nd Edition)

Point out to the child that we use a scale for larger groups of objects since not all the objects can be represented
individually. Explain though that using a scale has its limitations. For example, if a A represents 3 fruits, the
same A cannot be used to represent 2 fruits. Within a graph, the same symbols should follow the same scale.
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Attaining Mastery

Use the graph fo fill in the blanks.

1. The picture graph below shows the number of books a class
borrowed from the library.

Books borrowed

(0

BEEEED

A
e

BEEEEES

&

Monday

Tuesday

Wednesday

Thursday

Friday

Each QQ stands for 1 book.

(a) The class borrowed books on Wednesday.

(b) The class borrowed a total of
and Thursday.

books on Monday

(c) The class borrowed the same number of books on

and

(d) The class borrowed
on Thursday.

more books on Wednesday than

(e) The class borrowed
to Thursday.

books altogether from Monday
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classes who wear spectacles.

Pupils who wear spectacles

2. The picture graph below shows the number of pupils in different

E

60
60
60
60
60
60

SCLGE

60
60
60

&

60
60
60
60
60

SCLGE

60
60

Class 3A

Class 3B | Class 3C | Class 3D | Class 3E | Class 3F

Each 4] 5 stands for 1 pupil.

(a)

(b)

(c)

(d)

(e)
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pupils wear spectacles in Class 3A.

more pupils wear spectacles in Class 3A than in

Class 3F.

There are pupils who wear spectacles in Class 3D and
Class 3B altogether.

Class and Class
pupils who wear spectacles.

have the same number of

There are pupils who wear spectacles in Class 3A to
Class 3F altogether.
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3. The picture graph below shows the number of pupils in a class who
have pets.

Pupils who have pets

X | %

X232
X226 2 2 X

£ 3

- BER | 2>

(3 9
Fish Dog Cat Hamster Rabbit

Each ¢ stands for 2 pupils.

(a) There are pupils in the class who have fish.

(b) There are
who have a rabbit.

more pupils who have a dog than pupils

(c) There are
who have a rabbit.

fewer pupils who have a cat than pupils

(d) The total number of pupils who have a cat or a hamster is

(e} If each pupil has only one type of pet, the total number of

pupils in the class who have a pet is
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4. Some pupils in a class took part in a survey. The picture graph
below shows the different means of transport these pupils use to
come to school.

Means of transport to school

=1 o

By oo
=l G,

3OO0
OO
2 @ OO

Walk Train Bus Bicycle
Each @ stands for 3 pupils.

(@) There are pupils who walk to school.

(b) There are
than by bicycle.

more pupils who come to school by bus

(c) The total number of pupils who come to school by train and car

is

(d) There are
than by car.

fewer pupils who come to school by train

(e) pupils in the class took part in the survey.
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5. The picture graph shows the number of people inside a restaurant
at different times of the day.

People in a restaurant

dd 44y

1Tam.to| Noonto | 1

8a.m.to | 9a.m.to |10 a.m. to p.m. to
9am. 10am. | 11am. noon 1p.m. 2p.m
Each £ stands for 5 people.
(@) There are people in the restaurant between 9 a.m.
and 10 a.m.
(b] There are people in the restaurant between noon
and 2 p.m.

(c)

(a)

(e

© 2014 Marshall Cavendish International (Singapore) Private Limited

There are 4 times as many people in the restaurant between

noon and 1 p.m. as there are between and

There are fewer people in the restaurant between
9 a.m. and 10 a.m. than between 11 a.m. and noon.

There are
gdam.to2p.m.

people in the restaurant altogether from
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6. The picture graph shows the number of books placed on each
shelf, from A to E.

Books on different shelves

K
X

*XXXX¥

* X X%
*n it

o e

Shelf A Shelf B Shelf C Shelf D Shelf E

Each * stands for 4 books.
(@) There are books on Shelf B.
(b) There are books on Shelf C and Shelf E altogether.
(c) There are more books on Shelf E than on Shelf B.
(d) There are 3 times as many books on Shelf as on
Shelf :
(e) There are books on Shelf A to Shelf E altogether.
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7. The picture graph below shows the number of different types of
fish sold in a shop.

Types of fish sold in a shop

HHBHH KD

% ®BBDD
N
{ | eRBD

pe= | B

Goldfish | Angelfish Guppy Clownfish | Swordtail

(a) If15 goldfish are sold in the shop, how many fish does each

% represent?

(b) If 6 more clownfish than angelfish are sold in the shop,
complete the graph for the clownfish.

(c) The same number of and
are sold in the shop.

(d) There are guppies and swordtails sold in the shop.

(e) There are fish sold in the shop altogether.
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8. The table below shows the number of pupils in each class who visit
the library in a week.

Class 2A 2B 2C 2D 2t

Number
of pupils

8 12 4 8 4

(@) Complete the graph.

Pupils who visit the library

Class 2A Class 2B Class 2C Class 2D Class 2E
Each [ stands for 1 pupil.

124  visible Thinking in Mathematics 28 (2nd Edition] © 2014 Marshall Cavendish International (Singapore) Private Limited



(b) Redraw the graph on the previous page using || to stand for
2 pupils.
Pupils who visit the library
Class 2A | Class 2B Class 2C | Class 2D Class 2E
Each | stands for 2 pupils.
(c) Now redraw the graph using [ to stand for 4 pupils.
Pupils who visit the library
=
B
Class2A | Class2B | Class2C | Class2D | Class 2E
Each 88 stands for 4 pupils.
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9. The table below shows the number of pupils who attend a dance
lesson from Monday to Saturday.

Day |Monday |Tuesday |Wednesday|Thursday| Friday |Saturday
Nunber| 1 18 6 24 18 12
of pupils

(a) Complete the graph.

Pupils who attend a dance lesson
Monday | Tuesday | Wednesday | Thursday | Friday | Saturday

Each [l stands for 2 pupils.
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(b) Redraw the graph on the previous page using [
3 pupils.

Pupils who attend a dance lesson

Monday | Tuesday | Wednesday | Thursday | Friday | Saturday
Each [l stands for 3 pupils.
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Summative Test

Muitiple-Choice Questions
Write the number of the correct answer in the brackets.

Sales of Tomato
Monday
Tuesday
Wednesday

Thursday
Friday @ @@
Saturday @ @@@@@

Eoch@stands for 5 tomatoes.

1. On which day was the number of tomatoes sold twice the
number sold on Friday?

(1) Monday (2) Wednesday

(3) Thursday (4) Saturday ( )
2. How many tomatoes were sold from Monday to Thursday?

(1 10 (2) 40

(3) 50 (4) 60 ()

3. If there were 25 more tomatoes sold on Sunday than on
Wednesday, how many tomatoes were sold on Sunday?
(1 5 (2) 9
(3) 25 (4) 45 ( )
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4. TIf eoch@ now stands for 4 tomatoes, how many fomatoes
were sold from Monday to Friday?

() 13 (2) 52
(3) 65 (4) 80 ( )
Fill in the blanks.

The following picture graph shows the number of stickers received by
4 girls.

L ¥ @
o o0 | au | Ul
OENRGIORRGION NS

Siti Anna Mavis Lynette
9. earned the most stickers.
6. Sitiand earned the same number of stickers.

7. If Siti has earned 12 stickers, how many stickers did Anna and
Lynette have altogether?

8. Siti must earn more stickers to have 4 more stickers
than Anna.
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9. Colour the correct number of squares in the graph according to the
data given below and answer the questions that follow.

10 girls like to wear skirts, 8 girls like jeans, O
like to wear dresses and 4 like to wear shorts.

Number of girls who like to wear certain type of clothes

Skirts 0 O B I O W R R W

Jeans OO0 0uggggggd

Dresses |[] [ U 0 OO0 OO O O U

Shorts | [ [ O OO O OO OO OO OO [

Each [ represents 2 girls.

(@) Most girls like to wear

(b) more girls like to wear skirts than dresses.

(c) fewer girls like to wear shorts than jeans.
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Think Out Of The Box!

Draw circles to represent the correct number of fish according fo the
information given below.

James eats 6 fish. John eats 3 more fish than James.
Jill eats 2 fish less than John. Jenny eats 4 fish less than Jill.

Number of fish eaten
Jenny James John Jill
(a) eats the most number of fish.
(b) eats the least number of fish.
(c) James eats fewer fish than Jill.
(d) John eats more fish than Jenny.
(e) They eat fish altogether.

Link
For more reading and practice, you may also refer to chapter 16 of My Pals Are Here Maths 2B (3rd Edition).

Notes
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Chapter

'Notes

Shapes And Patterns

Shapes And Two-Dimensional
Figures Thinking Platform

Look at the pies below.

Pie A is a whole pie.
What shape is it?

Pie B is a whole pie cut into 2 equal pieces.
What shape is each piece?

Pie C is a whole pie cut into 4 equal pieces.
What shape is each piece?

Think! What other things have these shapes?

Teaching Tips
The child learnt the four basic shapes in Primary 1: rectangle, square, circle and triangle. In Primary 2, he learns

the semicircle and quarter circle. Teach the child that semi means half so a semicircle is one-half of a circle,
while a quarter circle is one-fourth of a circle. Have the child identify objects around him which are semicircles
or quarter circles.
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The picture below shows the floor plan of a flat.

Living/ pal Bedroom E C

- C
i droom D
A A [T
Ocd 1 DD

L/ L/

Bathroom Bathroom

] _

K_i ] Kitchen O
TR

Think! What shapes are used in the floor plan of the flat?

Teaching Tips

Point out fo the child that the floor plan is an example of how shapes are used in real life. Guide the child in

identifying the shapes in the picfure. Lead the child fo see that the quarter circles are used fo represent the door
swing, which tells the extent and direction the door opens.

Notes
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1. Count the shapes that make up each figure.
Write the number on the blanks.

~ Example 5

4 rectangles

O Q Q 2 triangles

CY Y Y YN __ 3 circles
(] D 5 semicircles

___= _ quarter circles

(a)

H H __ rectangles
friangles
RYaVd

circles

Q Q —_semicircles
OO0 — quarter circles
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() <7
H F __ rectangles

triangles

O O O ___ circles
O O _______semicircles

quarter circles

(c)

rectangles

A ___ ftriangles

circles

A

8 _____semicircles
SO

O

quarter circles
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2. Trace the given shapes twice and cut them out.
Then use all the cut-outs to form two different figures.
Paste the cut-outs in the boxes.

~ Example .

Od=

Figure 1 Figure 2
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00( )aaa

Figure 1 Figure 2
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AC
O O AC

Figure 1 Figure 2
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ANAN
(NN

Figure 1 Figure 2
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3. Draw lines on each figure to show how it is formed by these

L NAAN

/
A
P A
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4. Each of the figures below is made up of two shapes.
Name the shapes.

This figure is made up of a
Q and a

This figure is made up of a

(a)

(b)

and @

(c)
This figure is made up of a

and a

(d) \

This figure is made up of a

and @
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5. Copy the figures onto the dot grid.

( G ) 3 £ Y L] -] 3 -} ] o ]
a 3 : | B @ P -]
o 2 - 2 2 a @
° @ @ ? ] & ]
2 L] @ ) ] 2 L]
9 e ® @ 2 @ @
8 5 9 L] L ? &
L] @ 9 o L ] 3 - ]
] 2 3 L ] o a
(b)
o 3 3 s » . ] D
2 -] ' & = ¥ 3
9 3 ¥ =] 2 3
> ] -] =} 2§ @ 3 > "
] =] ] @ ] 3 & ]
] 3 o -] L] 2 L] 3 2 ] 2 L]
- - ] L = ] L] ] @ ]
( C ) w 2 & L] @ 2 a
L ] L] L] L] k] & -
] ? L] @ 2 ® L]
@ L] o @ ] L L]
o ] @ L ® @ ]
2 2 ® o @ ? 2
4 @ 4] @ L L L] L] L] a o 2 2
> ¥ @ ] ® @ 2 ? @
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6. Copy the figures onto the square grid.

(a)

(b)

(c) |

\
N
_—

SN
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|
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Three-Dimensional Figures Thinking Platform

Look at these shapes.

cube cuboid

cone cylinder

Think! What objects have these shapes?

~ ¥ Teaching Tips
i‘ Help the child name objects that have the same shape as the above figures. Have him describe each figure
.za (for example, how many flat surfaces it has) and compare it with objects around him.
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Attaining Mastery

Count the objects that make up each figure.
Write the number on the blanks.

~ Example \
_ 2 cubes
_ T cuboid
__ 3 cones
2 :
1 cylinder
.*
1.
cubes
Sl el A
cuboid
cones
cylinders
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cubes

cuboids

cones

cylinders

cubes

cuboid

cones

cylinders
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Summative Test

A -3“ i o laarma #1n phd o 8
FRUTIDIe=-LNoICe USSTIONS

Write the number of the correct answer in the brackets.

1. Basketballs, marbles and tennis balls are examples of
(1) circles
(2) spheres
(3) cubes
(4) triangles ()

2. How many rectangle faces can you find in the following shape?

1 1 (2] 2

(3) 3 (4) 4 ()
3. Which of the following is changed, in order to form the pattern

below?

(1)  Shape (2)  Orientation

(3) Size (4)  Colour ()
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How many straight lines are there in the figure below?

YN

(M 1 (2) 2
(3) 3 (4) 4 ()
A cube is made up of square faces.
(1 2 (2) 3
(3) 6 (4) 4 ()
Fill in the blanks.
6. Count the number of each shape that makes up the figure on the
right.
squares O O
circles
triangles
rectangles

Look at the figure below.

It has curve(s) and straight lines.
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8. Fillin the blank by drawing the next suitable shape.

OAO0O0OAO0O0OA

9. Copy the figure onto the dot grid on the right.

1] D @ 2 3
2 ] =]
-] 2 L] 2 ]

10. Circle the shape that was wrongly drawn in the pattern below.

OAOADAQO LA
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' Think Out Of The Box!

1. How many squares can you find in the following figure?

2. Which rectangle is bigger, A or B?

3. Using only squares and triangles, draw 6 shapes to form a pattern
formed by orientation and colour.

Link
For more reading and practice, you may also refer to chapter 13 of My Pals Are Here Maths 28 (3rd Edition).

"Notes
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Answers

CHAPTER 8: MONEY

Counting The Amount Of Money In A Given Set

(pp. 1-7)

Thinking Platform

* See Notesonp. 1.
* Some combinations to make $8.50:

HOO®@®HE®

| ot |t | -

1
1 2 2
1

sl =|—=|—
wn

Ol lelN|ovjun | B

w|oo||te|w|w| |
=
o~

Attaining Mastery

1. lal
lc)
le)
gl
(i)

2. la
(b)
(e)
(d)
le)
(f
lal
(h}

$55.05 (b} $5.05

$16.96 {d) $96.60
$42.24 fl $24.04
$19.35 (h) $39.50
$26.40 ) $46.20
Twenty-seven dollars and sixty cents, $27.60
Twenty-six dollars and ninety cents, $26.90
Fifteen dollars and fifty cents, $15.50
Twenty-aight dollars, $28.00

Thirty-six dollars and fifty cents, $36.50
Nineteen dollars, $19.00

Eighty dollars and fifty-five cents, $80.55
Eighty-three dollars and eighty-five cents, $83.85

3. Answers vary.

R reeseas

{a) $19.00
1 1 2
b} $23.00 2 1 1
1 2 a
[c) 51.90 1 1 1 2
2 3 3
dl $2.30 1 1 1
2 3

@ 2014 Marshall Cavendish International (Singapore) Private Limited

Changing Cents And Dollars (pp. 8-9]

Thinking Platform

* See Notes on p. 8.

Attaining Mastery

1. (a) $0.30 (b) $0.28
{d) $1.03 (e] $2.50

2. (a) 800 (bl 1200¢
{d) 500¢

3. (o) 820¢ (bl 65¢
(dl 405¢ (el 790¢
(g} 726¢ (hl 240¢

(c) $0.03
[fi 53.45
() 900¢

I} 980¢
i 530¢

Comparing Amounts Of Money (pp. 10-12)

Thinking Platform

* Mary

* Diana
* See Nofesonp. 10,

Attaining Mastery
1. {a) Ashley
[ Amount Dollars Cents
$25.80 25 80
| s2850 28 50
b) Nicole
(" Amount | Dollars Cents
DebbieH  $25.80 25 80
$28.50 28 50
$85.20 85 20
Gladys $82.50 82 50
L
Debbie, Ashley, Gladys, Nicole
2. (o) John
Amount Dollars Cents
$43.20 43 20
$24.30 24 30
A\
b) John
Amount Dollars Cents
$43.20 a3 20
$24.30 24 30
$34.20 3 20
James $32.40 32 40

John, Daniel, James, Bobby

Visible Thinking in Mathematics 28 (2nd Edifion)
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Word Problems Involving Money (pp. 13-19)

« All the problems involve the same numbers: 24 and 4.

« The operations involved are different. Problem 1 and Problem 2
involve subtraction and division. Problem 3 invalves subtraction,

division and mulfiplication.

« No, we cannot use the same model to solve these problems.

Attaining Mastery

E st e i

1. ol Doll house [—__]

Toy car I l

}534
516 |

$34-516=9%18
$18+-2=%9

$9 + 516 = 825

The toy car costs $25.

(bl Doll house | [ S16

Toy Car |:|

$34 - 816 =518
$18+2=59

$9 + 516 = §25

The doll house costs $25.

James | $65 | 565 l
|

$34

lke | 365 s65 | sm0 |

Brian has $65.
365 % 2 = $130
James has $130.
$20 + $130 = %150
Luke has $150.

b

Brian | $25

Jomes
Luke

[——
?

Brian has $25-_
$25 x 2 = $50
James has 550,
$25 + §5=530
Luke has $30.
(el
James | |

Luke | | 520 |

-

$80
$80 - $20 = %460
Brian has $60.
560 x 2 =5120
James has $120.
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. lal

(b

(c)

lal

(bl

(a]

[a)

(b

(d

la

(b}

{c)

3)
3]

$82-924 + 518 =376

Jenny has 576 in the end.

$82 - 518 + $24 =388

Jenny had $88 af first.

518 x 2 =$36

She spends 536 on a school bag.
$42 + 518 + 536 = 596

Jenny had 596 at first.

]
Glove | | 529

$45-529 =516
$16+2=%8
The bat costs $8.

w1,
2goms ]

$30+3= $‘|0
The glove costs $10.

Bml:]

2 gloves | I | | |

$45+5=%9
The bat costs $9.

File
— ],

$12+3=5%4
34 x 2 =38
The book costs $8.

e[

512 x 3 =536
The book and the file cost $36 altogether,

File |:I
Book [ l | J

—_—
$12

545

545

S12:2=%6

6 x4=524

The book and the file cost 524 altogether,
3 apples =52

24 apples = $2 x 8 = $16
She pays $16.

$4 = 3 apples
$24=3x6=18

She gets 18 apples.

24 apples = 58

3 apples =91

15 apples = $1 % 5 = 35
She pays 55.

i B

$82 - 318 = 564
564 + 524 = 588
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3. (2 6x3%5=530
8x32=816
$30-%16 =514

4. 13) §72:2=%36
$85 - 536 = %49

5. (4] 7x$0.50=53.50
2 % 50.20 = $0.40
$3.50 +50.40 =53.90

6. 518+ 536 =%54

542 4+ 554 =596
Jenny had $96 at first.
Fona, Diana, Mary, Jane.

T I

$24 - 34 = 520

$20+4=35

A file cost 5.
9. $50.55

O et ] .
Chicken -

§42 - 516 = 326

$26 + 2=513

Chicken: $13 + 516 = $29
She paid $29 for the chicken,

$24

Think Out Of The Box!

L Racket I 1 ‘ l

pp—

Bag ] | $22 $148
—
I
$148 - $22 - 512 - $12 = $102
$102 + 3 =534
$34 + 512 + 522 = 568
He spent $68 on the racket.

2.3 Q - 3 =533+ 530 =563
Q+ =$63 +3=521

=530-521=3%9
3. $45+:3%5=9
9 x 3 = 27 chickens
Tom must sell 27 chickens.

CHAPTER 9: LENGTH

Measuring And Comparing Lengths (pp. 24-32)
Thinking Platform

¢ Accept all reasonable answers for the lengths.

* As a hint, show pupils a metre rule.

lal 8 b) 7 i A1B
* Yes, it is difficulf to tell as the pencils are nof aligned.
(@ 7 le) 5 f C20

= Yes, itis easier as the pencils are aligned to the zero mark.
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Attaining Mastery

1.

la)
(d
(a)
(d)
(a)
{d)

(=]

(a)
e}

(d)

lal
(dl

lel

(al
c)

ld

lal
(bl
(a]
(d]
(e)

(al
(d
le

(a)

(b

le)

(d

. la)

(bl

(d)

8 b) 2 c 6
4

7 b 2 e 5
-

2 bl 3 [ 1
4x3=12

12+2=6

Ix3=9

4%x2=8

9+8=17

3 b) 8

2x3=6

3x8=24

6+ 24=30

30+3=10

Ix8=24

24+3=8

3 b) 4 g 1
Ix4=12

12+3=4

2x3=6

2%4=8

6+8=14

4 b) 8

Ix8=24

U+4=4

Ix4=12

Ix8=24

12+ 24 =36

36+4=9

Eric

Jason, Ben

30

120 + 150 + 90 + 120 = 480

150 -90 = 60

1 p 3

V)

20, 40, 60:3

Mary (b) 30 ) 30
90 + 180 + 120 + 150 = 540

180-120 =60
123

20, 40, 60,3

834 115=198

Their total height is 198 m.

125 + 115 =240

Their total height is 240 m.
140-115=125

Building D is 25 m shorter than Building C.
125-83=42

Building A is 42 m taller than Building B.
159 +135 =294

Their total height is 294 m.

113 +135=248

Their total height is 248 m.

195-113 = 82

Tower A Is 82 m shorter than Tower D.
159-135=24

Tower B is 24 m taller than Tower C.
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Problem Solving Involving Length (pp. 33-36)

Tﬁinking Platform

* The same numbers are used. The length of John's ribbon is
the same.

The number 25 reprasents different amounts in the
three problems.

Attaining Mnsterg

1. (o) 240 + 385 =625
He travelled 625 m.
b) 385-240=145
He jogged 145 m further.
2. (o) 14+8=22
Jaswant’s ribbon was 22 cm long.
bl 14+22=36
The total length of the two ribbons was 36 cm.
3. (o) 240-182=58
He needed 58 cm more siring.
182 + 180 = 362
The total length of string he had in the end was 362 cm.
4. (o) 163 +45=7208
Weilong is 208 cm fall.
163 + 208 = 371
Their total height is 371 em.
5 8x4=32
The total length of wood Mr Tan needed is 32 m.
6. Ix7=21

(b

b

The length of tape she needs to seal 7 similar cartons is 21 m.

7. 45+5=9
She con make 9 curtains.
8. 27:9=3
She used 3 m of poper for each lantern,

More Addition And Subtraction Of Length (pp. 37-42)

Thinking Platform.
* Solution A is correct

» I can draw a diagram showing the given distances of 200 m,
110 m and 40 m in the correct directions.

Attaining Mastery
1. 200 +160 = 360
360-320=40
The distance he walked back was 40 m.
2. 400 -160 = 240
240 + 80 =320
She had walked 320 m.
3. 240 +245=485
485-420=65

She walked back 65 m,
4. 400-7200-120 =80

They were 80 m apart.
5 40(3 m
Start @ ® tnd
120m

Jasper &

[
Derrick ® 310m e

]

154  visible Thinking in Mathematics 28 (2nd Edition)

400-120 =280
310-280=230
They were 30 m apart,
300m
Start @ @ End
I

245m
Wani &——» ~

Gavin & 150m >
P

300-245=55
150-55=95
They were 95 m apart.

Start .r 1. End
]
)

245-150=95

They were 95 m apart,

{al ?
Start @

Wilson e—

.
2

=Y

150 m
Ronald e >

40m 120m
150 + 40 + 120 = 310
The race was 310 m long.
Ib) ?
Start ‘_

120 m

i-@
m
=2
(=8

Wilson e *
150 m

I
Ronald & >
—— ——
40m
120-40 = 80
150 + 80 = 230

The race was 230 m long.

Measuring Gaps And Intervals (pp. 43-48|

Thinking Platform|

* In Problem 1, there are 4 lamp posts and 3 gaps.

In Problem 2, there are 5 lamp posts and 4 gaps.
The number of gaps is always 1less than the number of
lamp posts.

Attaining Mastery

i

3x8=24

The distance between the 14 and the 9™ free is 24 m.
20+4=5

5x8=40

The distance between the 1¥ and the 9" tree s 40 m.
4x9=36

The distance between the 19 and the 10" tree is 36 m.
12+4=13

Fx F=121

The distance between the 1* and the 8" tree is 21m,
Ix9=27

The distance between the 1¥ and the 10™ lamp post Is 27 m.
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6. 25+5=5

5x9=45

The distance between the 1* and the 10" lamp post is 45 m.
7. 40+4=10

10%x9=90

The 1¥ and last puplls are 90 m apart.
8 40:4=10

10x9=90

The 1 and last pupils are 90 m apart.

Summative Test

1. (4] 1piece:48cm+6=8cm
2 pieces:8ecmx 2 =16 cm
2. (4] 4cars=6x4=24m
5buses=11x5=55m
24+55=79m
3. (3] 2pleces »30cm
1 piece - 15 cm
7 pieces —+ 7 x15cm =105 cm
. (3) 19x5cm=95¢cm
5 (2 129cm-42em=87¢cm
87ecm+3=29cm
6. 109mx3=327m
Leonard covered a distance of 327 m.
7. 350m-125m~-18m=207m
207m+3=69m
Each of the 3 smaller pieces is 69 m long.
8. 410 cm + 4 cm =102 remainder 2
He can get 102 pieces of 4-cm wood.
9. Bryan -+ 140 cm
Gabriel — 140 cm - 45 cm = 95 ¢cm
Total =+ 140 cm + 95 cm =235 cm
Their total height is 235 cm.
10. Shaun —+162cm
Wesley —+ 162 cm-20 cm =142 cm
Nathaniel =142 cm + 18 cm = 160 cm
Total —+ 162 cm + 142 cm + 160 cm = 464 cm
Their total height is 464 em.

Think Out Of The Box!

1. 300cm+5 (4 cuts] =60 cm
300 cm + 615 cuts) = 50 cm
60cm=50cm=10cm
Each stick would be 10 cm shorter.
2, 2poles+4rods—+78cm
4 poles + 2 rods —+ 84 ecm
6 poles + 6 rods — 78 + 84 =162 cm
Tpole +1rod =162 + 6=27cm
4 poles + 4 rods - 27 x4 =108 cm
2 poles + 108 - 78 = 30 cm
Tpole+30+2=15cm
1 poleis 15 em long.

2 4 6

oy B B
10 8 1
N/ = T

6cmx15=90cm
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CHAPTER 10: MASS

Measuring Mass [pp. 53-56)

Thinking Platform

« Egg B is heavier. The scales on the weighing machines are
different.
The value represented by each small interval depends on the
number of gaps befween each numbered interval.

Attaining Mastery

1. 34049 2. 180g 3. Wog
4, 120g 5. 2609 6. 3809
7. 40g 8. 180g

Comparing Mass (pp. 57-66]
Pt ._ __.. .

* Box B is heavier.
*  Box B is heavier than Box A. Box C is heavier than Box B. So,
Box C is the heaviest.

Attai.nl_n'g Mastery

1. (o) lessthan (b) more than
g C d A
el A il C
2. (o) Bag A (b) heavier
{ch heavier
3. [a B bl C
€ C
4. |a] heavier (bl heavier
lc) lighter (dl Box A
{e) BoxC
% 19
. 90
7. lal 60 b} 180
€ 25 {d) 75
8 20+2=10
Her sister's mass is 10 kg.
9. 27+3=9
9%x2=18
Cindy’s moss is 18 kg.
10, 12x2=24
Cindy’s mass is 24 kg.
1. 500 + 500 + 300 = 1300
The total mass of the papaya and watermelon is 1300 g.
12. 500 + 500 + 500 + 500 = 2000
The total mass of the papaya and watermelon is 2000 g.
13. 14-2=12
12:2=6
6+2=8
The mass of the box of watermelons is 8 kg.
14. 220+ 220 + 50 =490
Their total mass is 490 g.
15. 150 + 150 + 150 + 150 = 600
Their total mass is 600 g.
16. 20+2=10
4x%10=40
Their total mass is 40 g.
17. Box B is the heaviest. Box C is the lightest.
18. Matthew, Darren, Owen, Pat
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| Think Qut Of The Box! |

 Summative Test

1. Victor — 38 kg
1. (2} 560g+820g+259=14059 Father —+ 38 kg x 3 =114 kg
2. (31 Nathaniel -+ 28 kg Difference — 114 kg - 38 kg = 76 kg
Wesley — 28 +12 = 40kg Victor is 76 kg lighter than his father,
Shawn — 100 kg - 68 kg = 32 kg 2.
3. (3) John = 42kg orange [_| 500
Bicycle + 60 kg—42kg =18 kg
Difference — 42 kg - 18 kg = 24 kg Pt -
4. (2 9209 Mango [ | 1209 | | 1209 |
Sweets | [ | 270 g- 120g-120g=30q
e Mango —+30g+1209+30g+120g=300g
Chocolates 2809 The mango weighs 300 g.
Sweels -+ 920 g 3. Box+ 5 pencils 3’24070 g
Chocolates — 640 g Box + 5 penos - : 9550
920-640g=280g 259"552;‘ 9;50 - mg
Box *+ 640 g-280 g=360 X 9= g= g
5. (@l o ¢ g 2 5pencils +470g-270g=200g
' 3pens|:|: 1pencil=200g+5=40g
S oniie :l 2409 A pencil weighs 40 g.
240g<=8=130g CHAPTER 11: VOLUME
lpen—30gx2=60g
5pens— 60gx5=300g Comparing Volume (pp. 71-74]
&, B_C’A’D it e
7 Thinking Platform
Magazine :l Tkg » We are not able to tell which container has more as A and B
have different shapes and sizes.
Textbook 3k
R - * Not able to tell
7kg-3kg=4kg « Container D
4kg+2=2kg » Container F
1 magazine = 2 kg .

Cond D, E and F. Containers C and D have the same shape and

Tlextbook =3 +2=5kg size. So do Containers E and F.

3 magazines + 2 textbooks =6 kg + 10 ka =16 kg

Their fotal mass is 16 kg. At_t.:-iﬁ;l'ng'h-hstéru"
8, Wooden Gibe—310g b bk
Plasfic cube - 320 g- 180 g =140 g L la) O.EF B ZY,X
2 wooden cubes + 2 plastic cubes ~ 6409 + 2809 fc} DB ACE
=920¢g .
Their fotal mass is 920 g. Measuring In Litres (pp. 75-75)
Tom l | Skg 1 3kg | Thinking Platform.
Joel E 28kg s We are not able fo tall which container has more os A and B are
of different sizes.
Clement - S5kg * We can use a container marked in litres to measure the volume

of water in Containers A and B.
28kg-5kg-3kg=20kg e
20+2=10kg Attaining Mastery
Joel weighs 10 kg.

10+5=15kg )
Clement weighs 15 kg. © - r—

10 55 |4=..... '\.;,..,'
_ 54 - D 'l
A| l |
J I
4209+2=210g

210gx3=630g @ J

The 2 containers can hold 630 g.
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7 ’'a
\\/\\ A
'/’ \\_

/ / =
26y GO
3 (@ 3 b} 4 0 &
d 10 lel 12 i 3
4, [a) 12 (bl 16 et 9

d 6 (e) 20 Ml 40

Finding The Volume (pp. 80-84)
* 12 mugs

Attaining Mastery

1. 4 bottles can hold 2 ¢ of water.
12 bottles can hold 2 £ x 3 = 6 ¢ of water
The tub can hold 12 bottles of water.
Thus, the tub can hold 6 ¢ of water,

2. 3 bottles con hold 5 ¢ of water
6 bottles can hold 5 ¢ x 2 = 10 ¢ of water.
2 tubs can hold 12 bottles of water.
1tub can hold 12 + 2 = 6 bottles of water.
Thus, one tub can hold 10 ¢ of water.

3. (o 4 bl 5 fc 20
4. (ol 8 bl 3 le) 12
5 la 6 bl 30 fc) 10

Word Problems Involving The Four Operations
(pp. 85-88)

Thinking Platform

* 9: use division
* 32 ¢; use sublraction
* 40 ¢; use addition

Attaining Mastery

b e[
w{ [ [ [ T ]

- ]

32¢
32:4=8
The pail can hold 8 ¢ of water.
8+32=40

The tub can hold 40 { of water.

© 2014 Marshall Cavendish International (Singapore) Private Limiled

O poi [ ]
w| ] 28¢

48-28=20
20+2=10
The pail can hold 10 ¢ of water

TonkB | ! 2 ¢

16+ 24 =40
40 + 16 = 56
The 2 tanks contain 56 € of water.

) tanka | 2¢ |

Tank8 | [ we |

24 +16=40
24 + 40 =64
The 2 tanks contain 64 ¢ of water.

& Tank A D

24-16=81¢
Bl+2=4¢
Tank A contains 4 { of water.

Tonk A D

20f+4=6¢
6fx3=18¢
Tank B contains 18 ¢ of water.
18+15=233
Tank B contains 33 ¢ of water.
N-12=0
Tank A contains 21 ¢ of water.
33+20+18=72¢
The 3 tanks contain 72 € of water,
bl 18-15=3
Tank B contains 3 ¢ of water.
3+12=15
Tank A confains 15 £ of water.
15+34+18=36
The 3 tanks contain 36 ¢ of water.

Tank B D a7¢

ke[ | | | 12e |
47-12=135

35+7=5

§x3=15

Tank A contains 15 ¢ of water,

24 ¢

(d

244

lal

Summative Test

8(‘-3{_-5{
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(3) Jug—+2¢
Pall +2¢x2=4¢
3pails+5jugs—+12€+10¢=22¢
(3) Bowl +1¢
Flask =1 +3¢=4¢
Basin—=4¢ x2=8¢
1/+4¢4+8¢=13¢
(3) 100¢ -2¢=8¢

20¢6-6€6=14¢
4€+2=7¢
TE+66=13¢

2¢ 35¢
3[é-MMe=21¢

The difference between the amount of water in the 2 containers
is21¢.

II |

6l +3=2¢8

22¢-2¢=20¢

206+2=10¢

A wooden tub can hold 10 ¢ of water.

4f +2¢=16¢

16¢ +2=8¢

d¢-8é=6¢

6 ¢ of water should be poured from Beaker B o Beaker A.

1 15€ 1

/1.____;

-

156+3¢=18¢
Bx2=36¢
There is 36 ¢ of water in the pail at first.

i Think Out Of The Box! |

1.

4 bowls —+ 3 x 4 =12 glasses
12 + 4 glasses — 3 jugs
5]jugs —+ 5 x 4 = 20 glasses
20 + 5 = 4 boftles

34
Hask D, Flask 8, Flask C, Flosk A
greatest least
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]
280 +7=4¢

A—+4xdl=16¢
Container A has 16 ¢ of water.

CHAPTER 12: TIME

The Minute Hand (pp. 94-96)
Thinking Platform
= See answer on p. 95.
+ See answer on p. 95.

+ In Clock A, the minute hand is pointing at 5. In Clock B, the
minute hand is pointing at 8.

Attaining Mastery

1. 30 2. 55 3 35
4. 45 5. 50 6. 60
7.7 8 9 9. 10
10. M

Reading And Writing Time To 5§ Minutes (pp. 97-104)

Thinking Platform

« A
¢ Clock A—8.50, eight fifty
Clock B —9.10, nine ten
« B, because the hour hand is between 3 and 4.

« The hour hand moves in between 3 and 4 from 3.00 to 4.00. The

minute hand makes a complete round from 3.00 to 4.00.

Attaining Mastery

1. (b 470 e} 6.50
(d) 6.55 &) 9.5
i 8.50

2. la
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le)

le)

]

[w]

Use Of a.m. And p.m. (pp. 105-106)

Thinking Platform

* 12 hours

le) * Sea Noteson p. 105.
+ See Notes on p. 105.
Attaining Mastery
1. la) 9.00a.m. (b} 9.00 p.m.
2. (o) 8.00am, {b) 8.00 p.m.
3. (@ 8.00am, {b] 4.00 p.m.
4 (o] 6.00p.m. bl 6.00 a.m.

4 fa 5. (al 3.00pm. (bl 11.00 a.m.

6. (o] 4.00am (b} 10.00 p.m.
Time Taken In Hours And Minutes (pp. 107-109)
Thinking Platform

e » See Notes on p. 107.

4

Attaining Mastery

1. (ol 3.00pm b) 2.00 p.m.
2, la] 4.45p.m b} 3.45p.m,
3. (o] 6.20pm. (b] 5.20p.m.
4. o 1210 p.m. (b) 10,10 am

© 2014 Marshall Cavendish International (Singapore) Private Limited Visible Thinking in Mathematics 28 (2nd Fdition) 159



_ Summative Test

13
3)
12)
3.00 pm.

(@)

N
@ o B

Think Out Of The Box!

T 10 min
940 pm. — > 950pm
20 min
9.50pm —>9.30pm
1h 50 min
930pm.—————*
Her watch would show 11.20 p.m.
2 1 hour
430pm. > 530p.m.

45 minutes
580 pm > 515pm

1 hour — 45 minutes = 15 minutes
He took a longer time doing his English homework. Tt took him
15 minutes longer.

Time difference is 1 hour, 45 minutes.
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CHAPTER 13: GRAPHS

Reading And Making Picture Graphs With Scales
{pp. 113-127)

Thinking Platform

* No, it is not easy to count each type of fruit as the fruits are not
arranged in an organised manner.

Ttis easier to gather information from the table as it is organised.
We can identify the fruit Daniel ate the most by the tallest column,
We can identify the fruit Daniel ate the least by the shorlest
column.

We can identfify the fruit Daniel afe the most by the longest row.
We can identify the fruit Daniel ate the least by the shortest row.
For Graph A, 6 should be drawn for Orange.

For Graph B, 3 should be drawn for Orange.

Both graphs represent the same sef of information.

Each graph uses a different scale to represent the information,
See Notes on p. T16.

Attaining Mastery
L la) 7 bl 9 fc) Tuesday; Friday
dl 4 le) 18
2 o) 7 bl 5 el M
(d) 3B;3E le) 28
3 (g W4 b) 2 c) 2
d 20 el 56
4. fa) 12 b) 9 c) 24
d 6 (e} 63
5. la) 25 b) 55 lc) 10a.m,; 1 am.
(d 10 le) 155
6. (a) 16 bl 36 lc) 12
d AC le) 96
7. la) 3
(b} Types of fish sold in a shop

% B B> B> B> B

& | BHBHB®
BB B ®

% [BRBB®
A | % %

pem aSa
Goldfish | Angelfish | Guppy |Clownfish | Swordtail
(e} goldfish; clownfish (dl 30 le) 69
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8. o Pupils who visit the library
3 =
5| = jir
= =
@ 15 = - =
B = iz = EA
= s | Eq i s
= s = = =
Class 2A | Class 2B | Class 2C | Class 2D | Class 2E
Each [ stands for 1 pupil.
(b} Pupils who visit the library
55
72
= E3 B
& E B
E 52} & E =
= &l =3 & [
Class 2A | Class 2B | Class 2C | Class 2D | Class 2E
Each m stands for 2 pupils.
] Pupils who visit the library
&
&= | [ |
S| = | || E
Class 2A | Class 2B | Class 2C | Class 2D | Class 2E
Each [ stands for 4 pupils.
9. lal Pupils who aftend a dance lesson
3
B
[
Eiic] .
5| EH M|
B3 | B
= =E i | 3
E | | E = B
= | . B | .
H b B E B =
o ) B B | 3|
E | = B E ==
Monday | Tuesday |Wednesday|Thursday| Friday |Saturday
Each - stands for 2 pupils.

© 2014 Marshall Cavendish International (Singapore) Private Limited

(b} Pupils who attend a dance lesson
B BE
=
= = &
&8 s
0 = w
Monday | Tuesday |Wednesday|Thursday| Friday |Saturday
Each [ stands for 3 pupils.
 Summative Test

N usLP

4] 5x3=15tomatoes

5 x 6 = 30 tomatoes

30 tornatoes were sold on Saturday.
3} 15+10 + 20 + 5 = 50 tomatces

4 20+25=

45

2) 12+8+16+4+12=52

Mavis
Lynatte
12+3=4

Each O stands for 4 stickers.

Anna—+4x4=16

Lynefte + 3 x4 =12

16 + 12 = 28 sfickers

Anna and Lynette received 28 stickers altogether.
Siti -+ 12 stickers

Anna — 16 stickers

6+4=20

20-12 = 8 stickers
Number of girls who like to wear certain type of clothes

siis (OO0 00000

eans (100000000

oresses |(1CIC1CI0CIOO0O0

srots (1110000000
Each [_] represents 2 girls.

[al Skirts (b 10 c 4

' Think Out Of The Box!

Number of fish eaten

Q
00O

OO0000O
O000
O000O
OO0

(I
Q0O
QO

Jenny Jumes lohn Jil
lal John (b) Jenny el 1
dl 6 (e) 25
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CHAPTER 14: SHAPES AND PATTERNS

Shapes And Two-Dimensional Figures (pp. 132-143]
Thinking Platform|

» A—circle; B— semicircle; C — quarter circle

» Circle— wheel, gauge, coin, Singapore fiyer

= Semicircle — protractor

* Quarfer circle — a quarter of a cake

* See Notes on p. 133; semicircles, circles, quarter circles,
rectangles, squares, triangles.

Attaining Mastery
1. la) 8rectangles, 1triangle, 6 circles, 3 semicircles,
2 quarter circles
[b] 7 rectangles, 1triangle, 5 circles, 4 semicircles,
1 quarter circle
{c) 1 rectangles, 4 friangles, 8 circles, 5 semicircles,
2 quarter circles
2. Accept any possible answers that make use of all the
shapes given,
Figure 1 and Figure 2 should be significantly different.

© Mrgurer Figure 2 ~
O%O
L_P
A
(]
NeeV
C = ) 5
N | NS
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=0
&
v

R &

4. (o] triangle; circle (bl rectangle; square

lc) semicircle; triangle |dl quarter circle; rectangle
5. Ensure that the figures are copied onto the dot grid accurately.
6. Ensure that the figures are copied onto the square

grid accurately.

Three-Dimensional Figures (pp. 144-146)

¢ Cube —die, ice cube

* Cuboid — domino, shoe box

» Cone — ice cream cone, traffic cone, party hat
¢ Cylinder — botfle, mug

J\itﬂining Muste'r'g"
1. 4 cubes, 1 cuboid, 3 cones, 3 cylinders

2. 2 cubes, 2 cuboids, 3 cones, 6 cylinders
3. 5cubes, 1 cuboid, 2 cones, 3 cylinders

_ Summative Test "

1 (2 2, (3 3 (2
4. 4 5 (3

6. 7 squares; 8 circles; 1 triangle; 0 rectangle

7. 1;4

8.

O

9. Ensure that the figure is copled onfo the dot grid accurately.
10.

| Think Out Of The Box!

1. 1+4+9=14
2 b Since the triangles (half rectangles)
B on both sides are equal,
0 A+C+D=B+C+D
C A=B
A
¢ They are the same.

3. Accept any possible answers that make use of only squares
and friangles that form a pattern by orientation and colour.
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e Attaining Mastery provides parallel questions that highlight differences between similar problems
and allow the child to focus on the correct application of concepts and strategies.

(a) There were 265 adults and 120 children at a funfair. How many people were there altogether?
(Answer: 265 + 120 = 385 people)

(b) There were 265 adults and 120 more children than adults at a funfair. How many people were
there altogether? (Answer: 265 + 265 + 120 = 650 people)

(c) There were 265 adults and 120 fewer children than adults at a funfair. How many people were
there altogether? (Answer: 265 - 120 = 145 children; 265 + 145 = 410 people)
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